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Physics
A force F is given by F = at + bt?, where t is
time. What are the dimensions of aand b
1) MLT3 and ML?T*
2) MLT3 and MLT#
3) MLT ! and MLT®
4) MLT*and MLT?

Figure gives the x-t plot of a particle in one—
dimensional motion. Three different equal
intervals of time are shown. From the graph,

match from columns.

N
X

A) In which interval is | P) interval
the average speed | (3)
greatest?

B) In which interval is | Q) interval
the average speed | (2)
least?

C) the sign of average | R) positive
velocity in interval
1)

D) the sign of average | S) negative
velocity in interval
(©)

1) A-P; B-Q; C-S; D-R
2) A-S; B-R; C-Q; D-P
3) A-P; BQ; C-R; D-S
4) A-Q; B-P; C-R; D-S

The speed of a swimmer in still water is 20 m/s.
The speed of river water is 10 m/s and is flowing
due east. If he is standing on the south bank and
wishes to cross the river along the shortest path,
the angle at which he should make his strokes
w.r.t. north is given by

1) 30° west

2) 0°

3) 60° west

4) 40° west

1
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02.

03.

180x4=720 MARKS

Physics

om olews F eeiug F = at + bt> sy
QUPRISILGSBSI, BmIG t eaiug CpILD. a wBmID
b 861 LfDTERIBIGET 6TevT60r
1) MLT3 and ML?T*
2) MLT 2 and MLT*
3) MLT ! and MLT®
4) MLT*and MLT?

Q@ uflorent QusbssHdled @b SHiseflear X—t &
eUMTLIL LD &M_B&EBGI. eiiml CleueiGauml FLo HT6v
@ evL GleualaeT ST L UL [B6Teel. euenFLL $3H60
BEH, CUIGSSIS.

X

a) 61bs Benl_Geuafuied Fyma p) BenL_Geuerfl
Gousmld HFHBLOTE 2_6iTengHI? (3)

b) eibs el Geuafuled gymafl | q) el Gauer
Gauslb GMBEITS 2_6iTeNI? (2

C) @@L Gaueiluied syma ) ChiLoems
Gousmdh et yemL_wimenid (1)

d) @ Qeuafuied syram S) e1gloemny
Cousdh et ewLwimernid (3)

1) a—p; b—q; c-s; d-r
2) a-s; b-r; c—q; dp
3) a-—p; b—q; c—r; d-s
4) a—q; b—p; c—; d-s

Beneowirenr Biled BEFFe» afyflest Geusid 20 m/s.
aBml Bflesr Geusid 10 M/S wBmib Sipd@ CHred)
uTWISBSI. Sie OHBSHS HMTUTleL HleTBI GmIsIU
UTemSHUTeL DBOBS HLHd all(HDLTTE0, Di6uT
aLsg Cprdhdl Sgsmen 6bhbs  Geuerigul
G memild

1) 30° west

2) Q°

3) 60° west

4) 40° west
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A brick of mass 2 kg is sliding down with
constant velocity on a plane inclined at an angle
of 45° with the horizontal. The force of friction
will be

1) 19.6 sin 45°

2) 19.6 tan 45°

3) 9.8 sin 45°

4) 9.8 cos 45°

05. A particle moves in the xy—plane under the action

06.

07.

08.

of a force F such that the components of its linear
momentum p at any time t are px=2 cos t, py=2
sin t. The angle between Force F and momentum
p at timetis

1) 90°

2)0°

3) 180°

4) 30°

In an elastic collision of two particles, the
following is conserved
1) Momentum of each particle
2) Speed of each particle
3) Kinetic energy of each particle
4) Total kinetic energy of both the particles

An inclined track ends in a circular loop of
diameter D. From what height on the track, a
particle should be released so that it completes
that loop in the vertical plane? (All are smooth
surfaces)

1)57’)
2)?7”
3)%

4D
52

Moment of inertia of a uniform circular disc
about a diameter is I. Its moment of inertia about
an axis perpendicular to its plane and passing
through a point on its rim will be

1) 5l

2) 6l

3) 3l

4) 4l
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2 &HBoor Pewm OFBTEWIL  @Ih GClFmIBED
LD L GGHIL e 45° BapmemidhHled FTUIhS
H61EH 360 15 6MELLLIT 63T Boump g g0 &8
FBIGHSGHIBS]. 2_JTuie] aflens
1) 19.6 sin 45°
2) 19.6 tan 45°
3) 9.8 sin 45°
4) 9.8 cos 45°

P BiBeT XYy—HeNHHled @k elwg F e
QFweoLT 19657 &S HEHHHMBSH, SHNM60  6lhH
CrrHHId t @60 Sipett CEfled o BHD P Sest
Fn@IBeT Px=2 COS t, py=2 Sin t ous BHEBSID. t
Crrsdev alemg F Bmid o Habd P &8
@enLullevrert Cammevid
1) 90°
2) 0°
3) 180°
4) 30°

Byenih gibeisefen el GoT&Hele0, LleTaumLeney
LOTTLOGD E)(THEHa 63TM360T

1) @eauGeurt(n Hiseen 2 Haid

2) @euGaur(m sideen Gousbld

3) @6106uTH HiB6M6ST BUIbH SLBMBED

4) Brewi® HIH6THMN6T QITHSH BUidhd SBB6L

Q(h FTUIHS UTend D el Lib Gamewi @b eul L
UMETWSHFHe0  (PFBEH.  uTengHulled  6lbHD
® WrHHeNmHbHEI, @b b6 GeueluiLiLBGSma,
Bzpamed  SiF  CFHGIH  DHSBD BB
apmFenu (WIHIBSHI? (1wt aId
OLeBTemLouITest GLOMBLITLILE6IT)

5D
1) g
2) g
3) -

4D
92

Q@ I LD QBTeNIL 6(h FJmet eUl L 6ul L &6
Beweoing  FpUySFmenr | @b, DB
HNSHIMBS CFRGSDHTH Qb DFMFSF HBYS DIFH6sT
alleMbLled o 66 g(h LsiTellenwid &L _hdH 01Fe0s0ID
Gural @iBe Heweviod Hl(LILIGS 6T

1) 51

2) 61

3) 3l

4) 4l
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The position of a particle is given by: 7 = (i + 2f
— k) and momentum P = (3i + 4j — 2k). The
angular momentum is perpendicular to

1) X—axis

2) Y-axis

3) Z-axis

4) Line at equal angles to all the three axes

Statement-A: For Geostationary satellites, height
above the earth is about 35,800 km.
Statement-B: For Polar satellites, height above
the earth is about 500 to 800 km.

Statement-C: For Geostationary satellites, T =24
hours.

Statement-D: For Polar satellites, time period is
around 100 minutes.

1) Aand B are true

2) A, B and C are true

3) A, Cand D are true

4) all are true

The maximum velocity of an electron emitted by
light of wavelength A incident on the surface of a
metal of work function ¢, is

[2(he+ A¢p)]1/2
1) | mA ]
2) 2(hc— Ag)

3) 'Z(hr:— ,1¢)]1/2
L. mA

r2(hA— ¢)11/2
9[22

If the wavelength of the first line of the Balmer
series of hydrogen is 6561 A, the wavelength of
the second line of the series should be

1) 13122 A

2) 3280 A

3) 4860 A

4) 2187 A

One requires energy En to remove a nucleon from
a nucleus and an energy Eeto remove an electron
from the orbit of an atom. Then

1) En:Ee

2) En<Ee

3) En> Ee

4) En> Ee
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Q1 SH1H61 6T Hlenev LleTeu(HLOTH UPRISLILBEBSI:
7= (1 +2]— k) wppib o_psn P = (3i + 47 — 2k).
Gaimemt ©_[bFHLD 61HBG CFRIGHITH 2_6iT6NG)

1) X—oiF5a

2) Y-oi55

3) Z-si55

4) ey OIFHBEHSGID FID  CHTEnImIBEN60

o _eiterm Gam(h

&Bp-AT  yelhemev  GFwuBenssCameraserlet
®_wigib, Yilé@ GGev giomy 35,800 &.16.
aBp-B: simey CrwmBenssCameisefles o wiyib,
yLé@ GwBev giomy 500 (1psed 800 &.16.
apul-C: yalBlenev QauiBenssCamesendd, 1 =
24 10ewiGpBiyLD.
gpp-D: simen QFwuBenassCameisendd, Hmev
slena] giom 100 ol misei.

1) A wBmib B &l
2) A, B ioimiib C &
3) A, C oppib D &
4) simaibaibd gl

Gouemev gL ¢ CamewiL 2 Geursd e
GuBuylied  ojemeobeTd A, UGB  @eflwimed
GeualILIBLD 6T60&L FTe&l HIFHBLLF Goussld
r2(he+ Agp)] /2
1) | m% ]
2) 2(hc— Ap)

'2(h7:— 1p)11/2
3) . mA

2(hA- ¢)1'/?
4 [2=2)

uTeoy OHTLfler ewamL Feeiet (LpFHed CsmL 196t
Simeuerid 6561 A erafled, QL fler Byewi_meug
G 19601 HIEM6VHEITLD

1) 13122 A

2) 3280 A

3) 4860 A

4) 2187 A

QB Slapibameiled Bhbsl @b PlubealGuiTamen
SIBBB  YOHAIGSS BB En  wBmid 9w
Slapelear  sBELLT®SUID  BBbHs @G
GEVUGBL JTemeT  SIBBB @ ouBmed  Ee
GxhremeuliBSIBG!. LlesTeu

1) En:Ee

2) En<Ee

3) En> Ee

4) En> Ee
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The width of forbidden gap in silicon crystal is
1.1 eV. When the crystal is converted in to a N-
type semiconductor the distance of Fermi level
from conduction band is

1) Greater than 0.55 eV

2) Equal to 0.55 eV

3) Lesser than 0.55 eV

4) Equal to 1.1 eV

For the given combination of gates, if the logic
states of inputs A, B, C are as follows A=B=C
= 0andA = B = |, C = 0 then the logic states of

output D are
A

B
G: G-

.
1)0,0
2)0,1

3)1,0
41,1

When light rays are incident on a prism at an
angle of 45°, the minimum deviation is obtained.

If refractive index of the material of prism is v/2,
then the angle of prism will be

1) 30°

2) 40°

3) 50°

4) 60°

If two light waves having same frequency have
intensity ratio 4 : 1 and they interfere, the ratio of
maximum to minimum intensity in the pattern
will be

1)9:1

2)3:1

3)25:9

4)16:25

Match the following.

a) $E.dA = % e) Ampere-maxwell law
0

b) §B.dA = 0 f) Faraday"s law

o) Edi = =2 |g) Gauss's law of
de magnetism

d) $B.dl = poic + | 1) Gauss™s  law  for

d¢ | electricity
Ho€o —o

1) a—e, b, c—g,d-h
2) a-h, b—g, c-f, d-e
3) a-h, b—g, c-e, d-f
4) a—g, b—h, c-f, d—e
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Feldamer LHHHe0 EenentHmLL enL uilest
B Geuaiulesr oiseold 1.1 eV gy&ib. LgsHma

N-auemnsd  GOBEBLSHHWTE  oTBBIdGUITE,
BLHH60 ULLUTed(hbHEH . .CQuUTLD oL L SHaesr
S

1) 0.55 eV & el o si0nEGID
2) 0.55 eV &@ Fioid

3) 0.55 eV &@ Foid

4) 1.1eV & gwid

Carhsaiul L eutulevsemer BFTHmaedE,
o eiefibzer A, B, C Qa1 HTds Hewevser
Hesreumom A=B=C=0wppb A=B=I,C=
0 e1afl60, Qeuallui B D @6t &b [Hlenevsmelt

A

C
1)0,0
2)0,1

3)1,0
41,1

16. qofl a8ysei 45° Carentdhds0 @(h (WULL L SEHEH60

7.

18.

uBLOUTSHI, GMBHSLLF alevssd GUBLILGHBEI.
WL L&l Gurmeiar geflelevssd @GHui® V2
61601160, (LPLILIL L &8 3601 GapmemiLd

1) 30°

2) 40°

3) 50°

4) 60°

@081  oIFTOeucwt OCaTewi  @yewiB  eperfl
Slmevaeen Gamle] aldsb 4: 1 gusa|b, SHiemel
GBISF B Cungl, BewlIler DIFHSLLFLD LOBMBID

GmBHSLLF GFplaler alldsbd
1H)9:1
2)3:1
3)25:9
4)16:25
Leiteu(mHeussieuBenmLl GLIT(HeHHaLD.
a) $E.dA = A | e) apbiuig—
€o BLoder06leusd allg)
b) $§B.dA = 0 f) ..umyGLules a8
c) § E. di = 2%®8 | g) srenileir SMbBaLIE
dt EY
d) $ B.dl = poic + | ) @menien
dog | WaIFTTSH 8 BeTer allg)
Ho€o —
1) a—e, b—f, c—g, d-h
2) a-h, b—g, cf,d-e
3) a-h, b—g, c-e, d-f
4) a—g, b-h, cf, d—e

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://www.padasalai.net/
https://www.youtube.com/@Padasalai-net

19.

20.

21.

22,

www.Padasalai.Net

A boat is moving due east in a region where the
earth’s magnetic field is 5.0 x 10° NA ™t m due
north and horizontal. The boat carried a vertical
aerial 2m long. If the speed of the boat is 1.50
ms~, the magnitude of the induced emf in the
wire of aerial is:

1) 0.75 mV

2) 0.50 mV

3) 0.15mV

4) 1 mV

When you walk through a metal detector
carrying a metal object in your pocket, it raises
an alarm. This phenomenon works on
1) Electromagnetic induction.

2) Resonance in ac circuits.
3) Mutual induction in ac circuits.
4) Interference of electromagnetic waves.

Assertion(A): In an uniform magnetic field,
speed and Kinetic energy remains the same for a
moving charged particle.
Reason (R): In the case of motion of a charge in
a magnetic field, the magnetic force is
perpendicular to the velocity of the particle. So,
no work is done and no change in the magnitude
of the velocity (speed) and Kinetic energy is
produced.
1) A and R are true and R is the correct
explanation of A

2) A and R are true and R is not the correct
explanation of A

3) Alis true but R is false

4) Both A and R are false

In a meter bridge experiment S is a standard
resistance. R is a resistance wire. It is found that
balancing length is | = 25 cm. If R is replaced by
a wire of half length and half diameter that of R
of same material, then the balancing distance ‘I’
(incm) will now be

'\ S

(N1
N\ ]

[ I l\— |
1) 10
2) 20
3) 30
4) 40

5
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yullest smhsiieob 5.0 X 10° NAT mt aiLss
LOBBID SeMLLIDL L LDTH 2 616 e LGHUled
ULg SHwdg GCpred psIHBEH. ULEG 2M
[HOTI(LPGITENT CamIGHHS) el 6xT600TeN 60N LIS
QameigmbHHS). LS Geausd 1.50 ms™ eelev,
aNetenteneusbsluled gmewi L emf Qe
SI6Ta)]:

1) 0.75 mV

2) 0.50 mVv

3) 0.15 mVv

4) 1 mV

® mIG6T UTHOBLI960 @(h 2 Georsll GLmmener
meaushd Ty o Georsd  HewIBLIQLILITET
auflwns  pRIGeT BLEGLOUTSH, DiFH @6
TFFFBmBM 6IIPLILBBHI. BbS HBLD6]

1) \0SIBTHS SHTEWIL 60,

2) Ac ammiseiled 86

3) Ac giBmiserled LFIOTHB ST6wTL 6v.

4) OSIBTHS DIMeLB6MGST GHBIHSH.

SmBBI(A) @6 FJrer SMbILILES I, BbabD
WML L 1D QFwiu’ L Hisehsdg Geus(pd
Buwss SBmevId @GT T Flwns B mHeELD.
smenid (R):  @®  smbsiosI0 @k
WM LD BuisbssHHe0 o 6tenCurgl, SMbHFH
aleng  Fiseisalar GCosdhdBg OCFmGHITH
B\HH&GLD. QRN 6lbSH BsuemevuLb
QFuwrLBeudlevensy wBHID CousdHer (Gousid)
el Quissd BBEIID 61H%H LOTHBBLPLD
SJMBLIL TG,

1) A wpmib R gfl wopmid R eresug A Seir Ffluimest
allensaLd

2) A oimib R &l opmid R eresiug) A Seir Ffluimest
AI6ITEHBLD SI6V6V

3) A afl syemed R seumy

4) A wiib R @geiiB Heumi

Q(h B LT FwearFabnl LflCarshamearuied S ererLig)
Q(h Hlemeowimen eTHemL . R 66Tl e LOGITSHemL
s, gwpewev Herd | = 25 cm  eem
et pSlwliLl (hetengl. R g3 9185 Gummefler Limg)
pen(pd umd el Lpd Gamewi R sbliwimed
rmplenmey, FBlenso Gy ‘I” (cm ulled) BIGLITE
IO JOI(E G
- s
£
¢

l “\ |
1) 10
2) 20
3) 30
4) 40
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The effective resistance between the points A and
B in the figure is
D

3Q 20
A Cc
3q 30
B
1) 50
2)20
3)3Q
4) 40

If the potential function is given by V = 4x + 3y,
then the magnitude of electric field intensity at
the point (2, 1) will be.

1)11

2)5

3)7

4)1

A parallel plate air capacitor is charged to a
potential difference of V volts. After
disconnecting the charging battery, the distance
between the plates of the capacitor is increased
using an insulating handle. As a result, the
potential difference between the plates

1) does not change

2) becomes zero

3) increases

4) decreases

A charge ‘q’ is placed at the centre of the line
joining two equal charges ‘Q’. The system of the
three charges will be in equilibrium if ‘q’ is equal
to

1) Q/2

2) —Ql4

3) Q/4

4) -Q/2

Two materials having coefficients of thermal
conductivity ‘3K’ and ‘K’ and thickness ‘d’ and
‘3d’ respectively, are joined to form a slab as
shown in the figure. The temperatures of the
outer surfaces are ‘02” and ‘01’ respectively, (02

> 01). The temperature at the interface is:
d 3d

) ﬁ + %
10 10
2) 6,+64

3)
4)

6, 56
6 6
6, | 26,
3 3
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uLSFe0 A oBmid B Leellsensa Sent Guiwimest
LWeDIBI LO6ITHemL
D
30 10
A Cc
3Q 3a
B
1) 5Q 2) 2Q2
3) 3Q 4) 4Q
Hetenpsdd QFweour® V = 4X + 3y o6
QUPBIBLILLLTeD, LeTefuied (2, 1)  1fledigev
Caplaler Sierey
1) 11
2)5
3)7
4)1
QR Beewiwmer HLB sop WHeaGxhss V
GeumeOL_ase6rfleir TS S GoumILm19MB&)

WeSTEITL L 1D QFWILIILGSBS). 106Tenm L 1b GFuig)
Fewigshs LUpg, WaBssdulsasr HbHHendHs
BevLuflevret ST @ SIS SHBHT HSLILTIgenuIL

LweTUGSHS) 9IHBfSSILBSBESI. B 601
allenermelTs, S (HBEHHG) BemLuileoment
WesTean(ps & GeumiLim(y

1) rmrg

2) ydunorang
3) oiFsflsans!

4) ePpEBs)

®yewi(h  Fwwmer  eTEml L mideT Q" e
B emeuTeh@GLD Gam 19 6vt EMLOULIS 36D Qb
WS LD 'q weusslLGHBEH. o6yl

LOGITEITL L Mib61T6ir DIenLOLIL| FLoplensouled BmHdbas
Gouemt(hGloefed ‘q’ eTaiTLIGI

1) Q/2

2) —Ql4

3) Q/4

4) -Q/2

UL $&le0 STLLLILL BeiTernuiy Geuli L ggHish s meir
3K’ wppid ‘K’ oppid sgwsr ‘d’ wpgid 3d’
S FeBenBsd  CaTemni  @Jewih  OLMHL 6T
BemenibSILBHOBT, DMal @  DHHMB
o (Haurdh@GPemer. Geuefliiyp  GuBurliserer
QeuliLplensv (ewmGu! ‘02 wBmID 01’ SuELWD, (02,
01). a@GG)I_Ié%}')‘QS]uﬂGi) QaulILBlen6V:

B3| |8
0

61, 29
10 10
0,+6;

6, 56
6 6
6, 4 26,
3 3
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If two rods of length L and 2L having coefficients
of linear expansions «, and 2, respectively are
connected so that total length becomes 3L, the
average coefficient of linear expansion of the
composite rod equals to
1)3«

:
4) x
Water flows through a frictionless duct with a

cross—section varying as shown in fig. Pressure p
at points along the axis is represented by

3)

4)

Maximum velocity in SHM is vm. The average
velocity during motion from one extreme point
to the other extreme point will be
1)~ Vm

2
2) ;Vm

4
3) ;Vm

4) =V

The maximum load a wire can withstand without
breaking, when its length is reduced to half of its
original length, will

1) Be double

2) Be half

3) Be four times

4) Remain same

7
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Crflwed alflouTdss G uERIBM6TS ©OlBTEmIL
pend L ommid 2L Qasmewi @yewi(h sibLisei
WeopBw < Bpid 2K g @luleBemnpBa
QaTewILTeL, Qomdhg memd 3L sus  wrpslermey,
gl (b slluier Crfluwed alfleurdsshaler symaf
(&H6WIHLD

3
4) <

ULSSHe0 ST LUUL Beitenuy  GHnIshG0eul B
LTBILGMSUTE 2_FTUlIe] BeL6VTS GLOTUI aILPIUITES
BT  UTWEBE. DFFe0 2 6iten  LeiTerilldered
SWHSID P eTILIS]

4)

(&

SHM 860 o18)a1L1" g Gausld Vm SL&LD. @b OFnley
yerefulledpba  oBoprm  OFpley  yetefe@
BuissdHH e Curgl Fyrafl Geusld
1) gvm

2
2) ; Vi

4
3) ; Vi

4) = vy,

@ S DIHE HNTD DIHET DIF6L [H6d 60t
UTSHWITHS GmBESSLILIGHLGUITS, IF!
© ML WITLDED HTRIBHInIQUI HIHBLILF FenlD
1) &y liuns BmdEn
2) uTHwins B HdELD
3) BT6IE) LB B(HHEGLD
4) origBuir B &G LD
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The value of y = (=

and another ideal diatomic gas X (Whose
molecules are not rigid but have an additional

vibrational mode), are respectively equal to
7 59

) )

i—”) for hydrogen helium

N -
~

~-
~

-
~

H W

N—r N N—r
Ul Nw | uiw | uie |
wluinn|Nu I Nw

~

NN o

~-

At pressure P and absolute temperature T a mass
m of an ideal gas fills a closed container of
volume V. An additional mass 2m of the same
gas is added into the container and the volume is
then reduced to V/3 and the temperature to T/3.
The pressure of the gas will now be:

1) P/3

2)P

3) 3P

4) 9P

statement-A: A quasi-static process is an
infinitely slow process such that the system
remains in thermal and mechanical equilibrium
with the surroundings throughout. Statement-B:
Spontaneous processes of nature are irreversible.
1) Ais true and B is false
2) A is false and B is true
3) Both A and B are true
4) Both A and B are false

Assertion(A): A bullet is fired from a rifle. If the

rifle recoils freely, the kinetic energy of rifle is

less than that of the bullet

Reason(R): In the case of rifle—bullet system, the

law of conservation of Energy is not valid.

1) A and R are true and R is the correct
explanation of A

2) A and R are true and R is not the correct
explanation of A

3) Alistrue and R is false

4) A is false and R is false

8
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AL IMe anfedluid LoBEID WBOBTEH GuledL
Framl eumu] X (SIBHET eLpevdbannIH6T HL LDT6Tn6
SI6V6V, DLETTED Fn(BHH60 SIFHITE] LILIGIT(LPEDBENUIS
QBTewIB6iTeNeT) SLdWaIBBIBETRr Y = (= E—P)
@6t AL (PedBBW THBESHF FLOOTH E)(HHEHLD

[
N—r

~-
-

N

-
-

~-
-

B W

N N N
ullNw luiw vt |
wluu N NWw
-

(SN IEN1S; B BN EN N RUCRN|

~-

WSS P oBmid (pepsvowimet Geulitiplenso T
B0 H Buwiedl] suruwellsst Hewm M, searsiene] V
®er  cpgul  Gamedevemen  HIFiLFBH.  DI6H
amyale  gmBdHe0 Hewm 2M  Csmeiseeailen
GoysbaliuL({, 601 6TI6 V/3 SLBLD,
QaniuBleney T/3  Sumad  GOBSBILGHBSEI.
U a6l SI(LpSHHLD AUIGUTSI:

1) P/3

2)P

3) 3P

4) 9P

SHBOB-AL Qb SimT-Hlensowlmer  GFWIsO(LEn)
16T 616V6MEVWLIMM GogleuTent
CFWLOPMBUWITGLD, BHEITED DIHLOLIL] (LP(LPEUSHILD
SBBIILBRISEHLET  Oeulil BB  BuihAy
gLopleneoued BmBGSLD.
gmBpI-B: BuBemsUTeD &60T601 & M UITEOT
CFWIEO(LPENMBEEEIT L6 (LIQUITSHEm6L.

1) A gf, B saum

2) A seuml, B &

3) A wpmib B §yewiGid gl

4) A i B gremii s

mBoI(A): 96 SILTSELIS®HS @b G

GLLUIUBSBSI. SIUTSHS) SHETEN FMFUITH

Leileummisleanme0, SHILTHE Ul Suibs DLBB6D

G Lmaler oymBBemev Al GBeuTd E(HbELD

smyenib(R): gIiLmGE—G B Siemolilled QLBBed

UTgISTLILY elg FHLILTe0eoTSHSI.

1) A opgid R afl, R ereiiugy A @6t gflwimen
allemésLd

2) A opmgib R &M, R aeiug A Qe Fflwime
AI6ITEHEBLD SI6V6V

3) A &1, R eiadiugy seum

4) A seauml, R e1asiug seum
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Three identical spheres, each of mass M, are
placed at the corners of a right angle triangle with
mutually perpendicular sides equal to 2 m (see
figure). Taking the point of intersection of the
two mutually perpendicular sides as the origin,
find the position vector of centre of mass

AN

M

2m

M N
M 2m :
1) 2(i + )

2) (T +))

3) 2/3 (i +§)

4) 413 (1 +))

A photon and an electron have equal energy E.
Then (Aphoton / Aelectron) 1S proportional to

1)VE

2)1/VE

3)1/E

4) Does not depend upon E

38. Assertion(A): Photodiodes are preferably used in

39.

the reverse bias condition for measuring light

intensity.

Reason(R): The fractional change due to the

photo—effects on the minority carrier dominated

reverse bias current is more easily measurable

than the fractional change in the forward bias

current.

1) A and R are true and R is the correct
explanation of A

2) A and R are true and R is not the correct
explanation of A

3) Ais true and R is false

4) Ais false and R is true

Four identical long solenoids A, B, C and D are
connected to each other as shown in the figure. If
the magnetic field at the center of A is 3 T, the
field at the center of C would be (Assume that
the magnetic field is confined with in the volume
of respective solenoid)
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peop M Osmewi cpaip @55 CaTenmise,
@6UGleTETNID 2 B (hb& FLDLOT GO
QeI OIBTEIBI OFEIGHSDI LIS B HIH6ITEH
Oamewi. e OCemBsmewt  (1LpHGHTewTdH 6
cpenedelled  eneudbslILL Belener  (LIL Sl
LMy & bab). BJeni(h QauIhOaTaEIy OFmIESHHTS
® gllem  UbsBIB6eMaT  Geul (B  LeTerilenwl
CLPELSHEnMBTHDH OBTeRI(H, MM MW [Hlenev
SHenF U6 BHevTL_plula|Ld
)

M
2m
M .
M= '
1) 2(i + ) 2) (I +))
3)2/3 (i +)) 4) 413 (i +§)

(M . .CUTLLTEILD 6TeusL_JTenID &0 SLBB6e0 E ma
QereBeitereor.  Lilevreon (}\.'.@unLLm / }\ms\)a'aLurrmiT)
A& HTFTIID

)VE

2)1/VE

3)1/E

4) E ;& anihbsHa £16060

a&BuI(A):  gafl  GFfme  SeTalGeuSHBES
UeiGammés@ amyL memsouled eerfl  emLGuimBaseir
(L&t emLOUITEBLI LILIeTL(B S SHLILIBE6HIB60T.
smewid(R):  HApiuneienio eaidser  ouddHsd
CFaHHID eiCamag gmyy erGearm L &d5le0
gBUGBL  LenSLIUL -6llenee dellelT  SHTJeILOTS
goublb  Ueitenr  oT@md, (peiGaitg &ML
WSIGeITL L S&l60 2 6iTen Lieien LOTBBSHMS L
Tl HTH SleNallL Hanlguig|.
1) A wiuib R eydwenau &M wompid R eresiug A
®eir Fflwiment ailemebaLd
2) A opmib R ereigy Ml @b R eresiug) A Seit
Flwimer allendbsld HI6L6V
3) A araiiuigy &l @b R eiaiug) seum)
4) A areuig) seum) opmid R eresiug) g

UL $HFH60 STLLLILILBET6NLy BTG @5HdH HewrL
slgmerser A, B, C wBpid D suduieneu
QReICBTOLTEE  Senenibaliul (herener. A @6t
MoWGHH o een sl 3T o
BmpHHTe0, C BT dwISHH0 2 66l  LjevLD
(sMbsLILeD SIbSHHS BIDLIGHEMNET ST Sienaied
UM UWIMISSLILIL (H6TT6gI o1 M
M6UHHIHCBTATEITID)
B

1)6T
2)9T
31T
H12T
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In the given circuit, an ideal voltmeter connected
across the 10Q resistance reads 2V. The internal

resistance r, of each cell is:
15Q

E:::l 2Q

10Q

1!
1.5V, 1.5V
rQ rQ

110
2) 0.5Q
3) 1.50
4) 0Q

A cuboid of dimension 2L x 2L x L, a charge q
is placed at centre of surface with area 4L2. The
flux through the opposite surface to ‘S’ is given
by.

q
1) 12¢g

2) L

2&g

3) -

3&o

4) L

6&o

A gas can be taken from A to B via two different
processes, ACB and ADB.

P/\
C B

A D sV

When path ACB is used 60J of heat flows into
the system and 30J of work is done by the
system. If path ADB is used work done by the
system is 10J. The heat flow into the system in
path ADB is:

1) 80J

2) 20J

3) 100J

4) 40J

Two liquids A and B are at temperatures of 75°C
and 15°C. Their masses are in the ratio of 2:3 and
their specific heats in the ratio 3:4. The resulting
temperature if they are mixed is

1) 90°C

2) 70°C

3) 35°C

4) 60°C
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CamhdsiulL  appleo, 10Q  ergHemLuler
GnIHCs O ememnTd Bl L Qb fmbs

GoureOL 1B LT 2V mé &M (hdmgl. @eileum(m
LO63TB60SHH 6T 26T LO6STZHemL I, LN68Teu(HLOTmI:
15Q

e
Ly

10Q

1]t
15V, 15V
rQ rQ
1)1Q
2) 0.5Q
3) 1.5Q
4) 0Q

2Q
AAAA

2L x 2L x L uflonewmigdhlet @b SengFsHiid,
ugtieey 4L o 1 eit Guopuriiier eowisasd @b
et L b ( eneusbslubGamal. 'S &@ gy
GuoBuyliy euPluime UTWID eULPmRISLILGESIBS.

q
1) 12¢g

2) L

28

3)

3&o

4) L

6¢&p

ACB wpmib ADB sidlu Syemih GeusiGaun
CFweO(WenmBseT cpeod A @elmbaH B &@& o
GUMU|6m6) 6T(HESHEVITLD.

P/\
C B

A D >V

utens ACB Lweu®ssiu@Gurg 60J Geuliuin
LB GeT UTWIFBS! BBID Dienliumed 30J
Gouemev  QFLILILILGSBS. utens  ADB
LWSTLGSSLILLLTED  SienliLmed  Gauwiwtin@l
Gauemev 10J sy@ib. ADB umenguied o siten
SIMLOLILTEDIeT GleuliLl gL L LD:

1) 80J

2) 20J

3) 100J

4) 40J

43. A opmib B sudu @yemi(h Syeuniskseit 75°C oBmid

15°C GeutiuBleneouied 2 _eitener. Sieumnslest Hlenm
2:3 eaiB aFHHHID, DBl BTGl
gpudmer 314 aam  aldHHHD 2 eiTere.
SIMEU HEVHSHTEL HleML H@EGLD GleulILIbHlen60

1) 90°C

2) 70°C

3) 35°C

4) 60°C
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44. A car starts from rest and accelerates at 5 m/s?.
Att=4s, aball is dropped out of a window by a
person sitting in the car. What is the velocity and
acceleration of the ball in air at t = 6s? (Neglect
air resistance and Take g = 10 m/s?)

1) 20 m/s, 10 m/s?

2) 20v/2 m/s, 0

3) 20v/2 m/s, 10 m/s?
4) 20 m/s, 5 m/s?

45. Following plots show magnetization (M) vs

magnetizing  field (H) and  magnetic
susceptibility (X) vs temperature (T) graph
AM

A):
<

-

XA

B)

Which of the following combination will be
represented by a diamagnetic material?

1) (B), (C)

2) (B), (D)

3) (A), (D)

4) (A), (C)

www.TrbTnpsc.com

44, o s Ui Haeouled Bmba OSTLEE 5 m/s?
GausihHev (WhsFlluGapgs. t = 4
allemgseriled, HMfled SIDTHHHBGSWD QHEUTTED
Qb Ubal 260160160160 (THH G| GeueGui
AL LuGadmal. t = 6 aleammgseaied srmpled LbS e
Gousld BmID (PBSBD  eaia?  (STHEHI
esmLmW Upssaiss § = 10 m/s? e
TBHHSIH QBTN EDHBIBHEI)

1) 20 m/s, 10 m/s?

2) 20v2 m/s, 0

3) 202 m/s, 10 m/s?
4) 20 m/s, 5 m/s?

45, NeSTau(BID QUTLL BIH6NT SMHHowioTshsed (M) Vs

BMHFHIOTHSH60 Ljevld (H) woBmib smbd o 6w Hmesr

X) vs OQanwBemer (T)  euemILIL HH5

ST (B eIIBent

A) M

B)

D) Xﬂk-

e

Nesreuld  CFTHamBH6M60
QuITmHETTeL GMIUILILLILGBLD?
1) (B), (C)
2) (B), (D)
3) (A), (D)
4) (A), (C)

6% LWTHMhHSLI
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Chemistry
Most electronegative element among the
following on Pauling scale is
1)S
2)P
3) Br
4)H

SF4, CHgs, CIF3, SO3. How many are non—polar
molecules.

no

2)2

3)1

4)3

Statement—I: Simple distillation is used to
separate volatile liquids from non-volatile
impurities having sufficient difference in their
boiling points
Statement-Il: In thin layer choromatogrphy,
ninhydrin is used to detect amino acids
1) I and Il are correct
2) lis correct, 11 is incorrect
3) lis incorrect, Il is correct
4) 1 and Il are incorrect

Egpat gy = —0.76V; EQ, 24 ¢, = + 0.34V. Emf of
Daniel cell is

1)1.1Vv

2)-1.1V

3)0.42V

4)-0.42V

Number of stereo isomers for
[Pt(Br)(CI)(NHs)(Py)] and [Pt(en).Cl,]*" are ‘X
and ‘Y’ respectively. é =
1) 0.666
2)1
3)1.33
4) 0.5

Match the followin

Organic compound Positive test

i) CeHsCHO a) 2,4-DNP, Tollen’s, Fehling
‘s but not lodoform

i) CH3—CO-CHs |b) 2,4-DNP, Haloform but not
Tollen’s

iii) CH:-CHO c) 2,4-DNP, Tollen’s but not
Fehling’s

iv) HCHO d) 2,4-DNP, Fehling’s and
lodoform

1) i-a, ii-b, iii-c, iv-d
2) i-c, li-b, iii-d, iv-a
3) i-c, li-b, iii-a, iv-a
4) i-a, ii-b, iii-d, iv-c
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Chemistry
uredm  oleeyGsmelled  LlevTau(hHeueTeUMBNSIeL
QUIHLDUIT6OTEIT 61601 JT6ITSHEUTHETENLD HEoLoLD
1S
2)P
3) Br
4)H

SF4, CHas, CIF3, SOz. (ipewediey seiteniouwiim
CLP6VGH G0 BIH6IT 615SH6N60.

10

2)2

31

4)3

gpp—l: GsrgBlensull UsTeflaefled GuTgiomet
Goumiun(® 2 _eiten  SLEIITETH  DIFiSHDHHISH6T60
Ambha opelwm@G FHyeumsamenl LNfléds ereful
aUYsL (HFHev LWeTUGSHSUILGSBS

gwpo—Il: Gwededw 21BEHE BiBwTeneoululelsy,
SINCaTT SiLflevmIBM6TS BHEWIL U [HleiTenamL ifl 6T
LWSTLUGSSILIGSBSH

1) 1 @b 1 s#flwirerg)

2) | gflwnenigy, |1 seupresig)

3) | seuprengl, | sflwrergi

4) 1 opuid | seuprers

Egnz"’/ZN = — 0.76V; Eguz*'/Cu
GLafluied BevdhH et EMF

1)1.1Vv

2)-1.1V

3)0.42V

4)-0.42V

= + 0.34V.

[Pt(Br)(CI)(NH3)(Py)] wmmib [Pt(en).Cl2]*
&aTen  LUpoeuel oTBBlwWmSeaienn eewienlldemns
werpGw ‘X wBmid Y’ gy XIY =

1) 0.666 2)1

3)1.33 4)0.5

Lled1eu(mHeueasiauBenmLl GLIm(HhoHHaLb

&ifio GFJLoLD GpiToenm G mHenen

i) CeHsCHO a) 2,4-DNP, GLmevesterd,
..Quanedimierd &eT6e0
aBuim@Lr.”.LUmJLb &J6060

i) CH3-CO-CHs |b) 2,4-DNP, amm@eur.".Lumjib
L6160 BL_T6V6sTerD £I60L6V

iii) CH:-CHO C) 2,4-DNP, GL mevasrerd
SLEITL .".OILIQMBeIMIeN
916060

iv) HCHO d) 2,4-DNP, .".Guamedmierd
Bnid Cwir@Lr.".umjb

1) i-a, ii-b, iii-c, iv-d
2) i-c, li-b, iii-d, iv-a
3) i-c, ii-b, iii-a, iv-a
4) i-a, ii-b, iii-d, iv-c
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Total number of nodes (angular and radial) for 5f
orbital is

1)2

2)0

3)4

4) 1

A catalyst lowers __ of a reaction
1) AH

2) Ea

3) AG

4) AU

Which one of the following acts like a reducing
agent in aqueous solution?

1) Eu**

2) Gd3*

3) Yb**

4) Ce**

Which one of the following produces a
secondary alcohol?
1) Acetone + RMgX /H.0
2) Acetaldehyde + RMgX /H.0
3) Formaldehyde + RMgX /H>O
4) Hydrogen cyanide + RMgX /H20

Identify incorrect statement from the following
1) Melting point of W >Mo > Cr

2) Density of Cu > Mn

3) IP2 of Cr > Mn

4) Stability of “+6” oxidation state in Cr >Mo > W

Osmotic pressure of 500 ml solution containing
18 grams of non—volatile solute is 4.926 atm at
300 K. Molar mass of solute is

1) 180 g/mole

2) 60 g/mole

3) 200 g/mole

4) 120 g/mole

Incorrect combination of organic structure and its

IUPAC name is

1) HC=C - CH,— CH = CHq>...Pent-1-en-4-yne
OHC-CH —-CH,—-CN

2) | . 3-formyl

CH, butane nitrile
COOH
3 N e Cycloheptanoic acid
o
4) CH,-C-CH,-CH-CH, -..... 4,4-imethyl
lc I pentan-2-ol
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5f el Lmessrear OQrss  SHamidaer et
eremtenllbend (Gameut LOBHmID GFiguicd)

1)2 2)0
3)4 4)1

@ alauydd @  alemeulle FIoL:
GDBSSBSI
1) AH 2) Ea
3) AG 4) AU
LeTau(meuastauBsied 61&l B HemJFelleD &emBa &L
sryeniwms GauweouBanBg?
1) Eu?* 2) Gd 3+
3) Yh3* 4) Ce**

Leau(peustouBpsied  61&%  EJ6ILTD  [Hlenev

SLELBHABTENEL 2 (HeUTHGHIBSI?

1) &8 BLmerr + RMgX /H20

2) oflLmeogeman® + RMgX /H20

3) ..umjmeogenan® + RMgX /H20

4) wami” yegent Fweweni® + RMgX /H20

LeiteumeuateuBmledl(hbdl  HUBTR  SniBenn
SIEWL_WITGIILD &T65T6YLD

1) o m@Blenev auflens: W > Mo > Cr

2) 9ILgsd: Cu > Mn

3) IP2: Cr> Mn

4) “+6” 15 BaiBB 1emeuu e [enevdHeTento:
Cr>Mo>W

300 K @60 18 &gmd erefgled opalwimsns
smyFamevd Oamewi 500 1Wlevel  senyFelled
evComesd  SjpssHd  4.926  atm sy Ib.
B gevledr GLomeory Blemm
1) 180 g/mole
3) 200 g/mole

2) 60 g/mole
4) 120 g/mole

&l oewwoiiy wppd gt IUPAC  GQuuwiy
DL WIIBSIEIT SHeUMTEOT G (LD
1)HC=C-CH;-CH=CHa...... QLieor_-1-rreor-

4-sn60t
OHC-CH-CH,-CN
2) | I 3-.".UMTenLo6L
Tyl GL_ed1 MBL 660

CH,
COOH
3 N e »FsBenmmlamsi i Germuiles
SiLflevld
?Hj OH
CH,-C—CH, - CH —CH,
4) S T 4.,4-
60 CH 3

GLI6BTL68T-2- 8160
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According Bohr*s theory, correct statements are
A) Angular momentum of electron in 2" orbit of

H-atom is 2
" VA
B) Velocity of electron is proportional to -

C) Radius of first orbit of H-atom is 52.9 A°

D) Energy difference between 2" orbit and 1%
orbit of H-atom is greater than the energy
difference between 3" orbit and 5" orbit

1) A, B and D only

2)A,B,C,D

3) B and D only

4) B, C and D only

Which one of the following does not react with
Hinsberg reagent.

1) RaN

2) RoNH

3) RNH:

4) Ph—NH:

Number of water molecules in 18 ml of water is
(density =1 g /mL)
18 N4
) 22400
2) Na
Ny
) 22400
) 18 Ny
22.4

« KMnO, /H*

Carboxylic acid + Ketone. X is
1) Propene

2) 2-methyl-2-butene

3) 2,3-dimethyl-2-butene

4) 4-methyl-2-pentene

Mole fraction of solvent in 10% [w/w] aqueous
NaOH is
1) 0.996
2) 0.952
3) 0.927
4) 0.973

Molar conductance of 0.01M weak monoprotic
acid (HA) is 40 mho cm? mol 2. pH of the solution
is (Limiting molar conductance of HA is 400
mho cm? mol ™).

12

2)4

3)2.3

4)3

14
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Gumiflesr Gam_ LML 1968t Lilg, FFlUITeT FnBIse6iT

A)  H-smelar 2es  sBmiiumamsuied
eT6u&Ledlent Cpmemt 2 _[HHLd %

B) erev1” genfiesr Geuesld % &@ & HTFTTLOTEGHLD

C) H-sigmieien (1psHe0 SBOILLTamSUT6T Syt
52.9 A°

D) H-sigmelar 261z sBoiiutenss@n  loug)
SBRIUIUTMSESD e uleomear  BB6D
Coupium®  3eugkh  SBBIILTOSHESID  Seugl
SBRILIUTMSHESWD e uleomear  BB6D
Goumum_enL el SIFHHLOTGLD

1) A, B wommib D ot Gid

2)A.B,C.D

3) B wmmib D o1 Gib

4) B, C wommib D o Bib

UeteupeusiauBplled 61  CamuiFaioufs
allenerdamyeniluL et aienearflalglsemnsv.
1) RN
2) RoNH
3) RNH:
4) Ph—NH:

18 106060 Hewrenifled o 6iTem [ cLP6VSn B3I 61 60T
eTewTenNbensd (@IjHa = 1 g/mL)
18 Na
) 22400
2) Na
3) 4

22400
)18NA

22.4

+
KMHE‘)‘/H STIUTSEFe0d iilevld + &SI GLmes.
X e161Lg)

1) yginSes

2) 2-Giog FHev-2-1TuyL” e 65T

3) 2,3-awL_Qog&e0-2-1uy 1 1065t

4) 4-Qg & e0-2-CILiesTIe 66t

10% [w/w] BirsH5 NaOH &6v sewyliuimeies Gomed
LT 6ST601LD

1) 0.996

2) 0.952

3) 0.927

4) 0.973

0.01IM aelemio  GHemmnheh BurCearmyGrmgd
auflevgdest (HA) Gureury s sagishHmer 40 mho
cm? mol? eysw. somgsedesr pt (HA Sei
auLbLBlemev GLomeun sl &5 me 400 mho cm?
mol™? eysb).
1)2
2)4
3)2.3
4) 3
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65. All the following paris have the same bond order

except

1) Ny, N5
2) 07,0,
3) B, 05~
4) Hy He,

66. p*a of CH3COOH is 4.82. p*» of NH4OH is 4.78.

67.

68.

69.

pH of ammonium acetate solution at 298 K is
1) 6.92

2) 6.96

3) 7.02

4) 7

The correct sequence of reagents used for the
below conversion are

Br

1) LiAlHs; Br2/ H20; NaNO2 + HCI /278K; H20
/ 283K

2) LiAlH4; Bra/ CS2; NaNO2 + HCI /283K; CeHe

3) Sn+ HCI; Brz2/ H20; NaNO, +HCI / 278K;
HsPO2 + H20

4) Ha2/ Pt; (CH3CO)20; Bro/ CH3COOH; NaNO>
+ HCI/ 278K; H.O

NP Cor%; HI o oo s

Choose the correct statement
cl

O,N: NO,

Warm water

NO,

OH

a) sulphonation
b) Nitration

1) B is nitro derivative of A

2) A and B are same compounds
3) Ais less acidic than B

4) A and B are positional isomers

65.

66.

67.

68.

69.
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Lelieu(bd Sienenshdl Denenrdend Gy LleneuoriiL
auflengemuwis Csmeniheener. Bemspd Haly

1) N, Ny

2) 05,05

3) By, 03~

4) Hf ,He;

CH3COOH @eit p*a 4.82. NH4OH &eit p*v 4.78
. 298 K @ oubGurefuid ol G
seedear pH sy

1) 6.92

2) 6.96

3) 7.02

4) 7

&SBp 2 it  MBBHHBGL  LLSTLIBSHSLILBLD
allener1OUTHL HerMesr Ffluimet euflend

Br
Br

1) LiAlHs; Br2/ H20; NaNO2 + HCI /278K; H20
/ 283K

2) LiAlHs; Bra/ CS2; NaNOz + HCI /283K; CeHs

3) Sn+ HCI; Brz2/ H20; NaNO. +HCI / 278K;
H3PO2 + H20

4) Ha2/ Pt; (CH3CO)20; Bro/ CH3COOH; NaNO>
+ HCI / 278K; H20

: \/O E Cor% HI X. ‘X erettug

b7

OH
2)
3) N

4)

Fflwrer gaBenss CaHIHO%HBHB|LD
cl

O,N NO,

QeugiGleugIiuTeT 157 A

NO,
OH

©

1) B aaiug A St bl Gym eufldhGsHmeimsed
DUGLD

2) A i B eyduwienat @By GFILomicselT Sy@Lb

3) A aiaiiugl B o el @evpeuner oiflevdseenio

a) gev.".CuGenimib
b) WBLTERCaBBID

(OF ) (g [
4) A uppid B gdwmer B s
ORI LIMRISET LG
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Negative diviations from Raoult’s law are
observed in
1) Chloroform + acetone
2) Benzene + toluene
3) n-hexane + n-heptane
4) Acetone + carbondisulphide

Same element shows more than one type of
oxidation state in all the following molecuces
except in

1) H2S,07

2) Br3Og

3) C302

4) CaOCl>

p*a is least for
1) BrCH2CH.COOH

2) CeHsCOOH
3) HCOOH
4) CICH2-COOH
Na/dryether HCl
CoHsBr anhydrous AlCl; B
KMTl04,

—— C. Regarding ‘C correct statement is

1) Cis
Cu/573K.

and gives a ketone with

OH
2) Cis 1 and gives an aldehyde with
PCC

ﬁ— OH
3)Cis and gives immediate turbidity

with HCI + anhydrous ZnCl;
OH

4) Cis } and gives a carboxylic acid
containing four carbons with KMnO4 / H*

Assertion: Melting of ice is spontaneous above

273K.

Reason: Above 273K, for the process of melting

of ice, magnitude of AH >TAS

1) A and R are true and R is the correct
explanation of A

2) A and R are true but R is not the correct
explanation of A

3) Alis true but R is false

4) Both A and R are false

70.

71.

72.
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Qremedl gert el FHuled(HHaS!
LIfl6ybeiT BmeuTlILIBeUS
1) &GenmGym.".umjib + oy GLmesr
2) Quesest + GLmeyiuiesr
3) N-Cam&Gervest + N-GamIGL 6T
4) o1 BL& + SMyLIGTenL Fe0emLI{

6189 T LDEMMBLLIT 60T

LleTau(HLD DIMETHSI CLPeLSHIBIHTILD &TBIHE)
GuoBul L euenswimer LoHFmCamB Henevenuld
SML_(Hougl

1) H2S207

2) Br3Og

3) C302

4) CaOCl;

p e GopBos|

1) BrCH,CH.COOH
2) CeHsCOOH

3) HCOOH

4) CICH,-COOH

CoHeB Na/dryether A HCI B
2l anhydrous AlCl;

KMnO,
— C. 'C' uppiw sflwmer gaBl

Ko
1) C aaiuig e, Cu/573K o 1 et
&1 BLTemed H(HBMG.

o
2) C eaiug) _| 4 sppab, PCC o e
DUEYDABDLS GBS DS
OH
3) C eaugl asab, HCl + mymms
ZnClz 2 1 &1 2 1&g S6eVmIBMVSH HHBBSI.
OH

4) C eaugl } asayb, KMnOs / HY
2 L& BTG STUSIHM6NS  OSBTewiL
SMUTHSe0dH DHevHmBHSH SH(HEHMSI.

&BE  uel o meeaugd 273K &g Gued
SHINFNFUITS [HBLDSHMBS!.
aryewid: 273K &@  Buoev,
QFwed(wenpd&, AH >TAS sjeney
1) A wpmib R gf wopmid R eresug A Seir Ffluimest
allendaId

2) A opgib R M gemed R aiesiug A St
Flwimest alendhald SI606V

3) A gfl eyemed R ereiig s

4) A wipib R @yediBid seum

uedl o (H&L
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Assertion: Acetanilide on bromination in
presence of ethanoic acid gives p-bromo
acetanilide as major product
Reason: -CONHCH?3 group on benzene ring is an
0, p—directing towards electrophilic substitution
reactions.

1) A and R are true and R is the correct
explanation of A

2) A and R are true but R is not the correct
explanation of A

3) Ais true but R is false

4) Ais false but R is true

Assertion: Alkaline hydrolysis of methyl
bromide gives a product with inversion in
configuration
Reason: Alkaline hydrolysis of methyl bromide
follows Sn2 mechanism
1) A and R are true and R is the correct
explanation of A

2) A and R are true but R is not the correct
explanation of A

3) Ais true but R is false

4) A'is false but R is true

Match the following.

Reducing agent Reaction

i) LiAIH4 A) -CO-CH>-CN —
—CO-CH>-CHO

i) NaBH4 b) -NO2 — NH;

iii) DIBAL —H |c) -COOH — —CH,0OH

iv) Sn+HCI  |d) -CO-CH,—COOR —
—~CHOH-CH>-COOR

1) i-d, ii-c, iii-a, iv-b
2) i-c, ii-a, iii-d, iv-b
3) i-c, ii-d, iii-a, iv-b
4) i-d, ii-a, iii-b, iv-c

(A) [CO(CN)e]

(B) [Co(H20)e] "

Correct combination about the hybridization of
central metal in these complexes is

1) sp®d?, spd?

2) d%sp®, d?sp?

3) spd?, d?sp?

4) d %sp3, sp°d?

17
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75. sppl: a55Camuils SiflevdHler (LpsiTerenseouied
UGrmiGemmid  QEFuiuiuGl  SIFIL L Teleneo®
pP—LGymGuom SIFILLTellemevemL (p& &l
alemenQUT(HENMTE S SH(HBMBS!.

Syewild: QuesTs e auenenuishslevieiien —CONHCHS3

G 6eUS @h 0, P—6eTeVHBLTT6ITG6UT LOTHBHI

aleneansenen GHToHd QUGBS

1) A oBpib R @yemipio afl, R eteiiug A-dme
FHlwimeot a6Nd&LD

2) A opgitb R @gewi®id &M, eyemmed R ereiiig) A-
BHBMeT FFWTET alleMbBID HIGL6V

3) A &1, eyemed R seum

4) A seumgl, syeimev R gl

76. gapml: G HHed LBITeMIDIQEST S BITBLIGLIL,

® GIeMemoalled  HEW6VBD  LOTHBBHSBIL 0T 6(h

QUT(HEM6NSH H(HBIBSI.

SMIewID: Oodde0 LIGTTemLOIQ6s &MY BHITBLGLIL

Sn2 OpBi(wenpenwitl HeuBBIS B

1) A wpmib R &fl wipid R eresnig A Seir afluwimet
allengaLd

2) A opgib R &M gemed R eieiug A Seir
gFflwimes allensbald D606V

3) A afl syeimed R 1Lz Heum)

4) A sa1m1 epeimed R erasig) Fi

77. Yeeumeuseumenmll GLIMhSSHaLD.

BHGLD Hyewi allenest

1) LiAIH4 A) -CO-CH2CN —
—CO-CH,—CHO

i) NaBH4 b) —-NO2 — NH>

iii) DIBAL-H |c) -COOH — —CH.0OH

iv) Sn + HCI d) -CO-CH.-COOR —
—CHOH-CH>-COOR

1) i-d, ii-c, iii-a, iv-b
2) i-c, ii-a, iii-d, iv-b
3) i-c, ii-d, iii-a, iv-b
4) i-d, ii-a, iii-b, iv-c

78. (A) [Co(CN)s]

(B) [Co(H20)¢]™®

@b Cosmomseaied  ewww 2 Georss g6

&60LILTGIOTSHEE0 LBMIL FFUITET SienLoliL

1) sp®d?, sp®d?

2) d%sp?, d?sp®

3) sp®d?, d?sp®

4) d %sp?, spid?
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NaNH,/A

dil. H,S0,, HgSO
CH2Br-CHBr p TR T80T

60°C

0,
D
(CH;C00),Mn

A 2, C;B LN D. XandY are respectively
1) H2/Pd — BaSOa; PCC

2) Ha/ Ni, A; [Ag(NH3)2]* / H*

3) Ha2/ Pt, 298K; NaOl / H*

4) LiAlH4; CrOzCly + CS2/ H3O*

ZNHg/Conc.HCl
—)

Greatest tendency to convert from +2 — +3 in
aqueous solution is for

1) Cr

2) Co

3) Mn

4) Fe

In Nickel-cadmium battery, the change in
oxidatioin state at anode and cathode is
1)0—+2;+3 — +2
2) +1 > +3; +6 — +2
32 > +3;+3 > +2
4H+2 > +3;+4 —> +2

The state of hybridisation of Ci1, C3, Cs in
hydrocarbon

CH=C-CH =CH - CHz — CHjs is respectively
1) sp® sp, sp

2) sp, sp, sp’

3) sp, sp?, sp°

4) sp, sp, sp®

What will be the molarity of a saturated solution
of Ni(OH),?

(Given: K, of Ni(OH)2 is 2 x 10 °)

1)5.46 x 10° M

2)7.94x10°M

3)825x10'M

4)1.12x 108 M

For the given cell,

Mg(s) | Mg?* (0.2 M) || A" (103M)|AI(s)
If Epygz+ipg =—2:36 V, Epiaeiy =—1.86 V.
E.M.F. of the cell is

1) 0.46 V

2) 0.69 V

3) 0.21V

411V
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NaNH, /A

79. CH2Br—CH2Br

5 dil-HyS0,, HeSO,

60°C
0;

D
(CH;C00),Mn

A L C;B L) D. Xusp Y wenpGui
1) H2/Pd — BaSOs; PCC

2) Ha/ Ni, A; [Ag(NH3)2]* / H*

3) Ha2/ Pt, 298K; NaOl / H*

4) LiAlH4; CrOzCl; + CS/ H3O*

ZNHg/Conc.HCl
é

WsLIEUWw 6uedenip GHTemIL G
1) Cr

2) Co

3) Mn

4) Fe

81.

FHLGLD WTHBLD
1)0— +2;+3 — +2
2) +1 — +3; +6 — +2
3) +2 > +3; +3 — +2
4) 42 — +3; +4 — +2

82.
CHs Cy, C3, Cs et sevliie [Henev
(pemmGw
1) sp®, sp, sp®
2) sp, sp?, sp?

3) sp, sp?, sp®
4) sp, sp, sp®

83.
GTGITRTOUTS B)(THEGHLD?
(Given: K, of Ni(OH)2 is 2 x 10)
1) 5.46 x 10° M
2)7.94x10°M
3)8.25x 107 M
4)1.12x10%M
84. Qa1(hsaUULL He0SHHBS,
Mg(s) | Mg? (0.2 M) || AP* (103M)|AI(s)
If Epygatiprg = —2.36 V, Egparpy =—1.86 V.
sevdhHert E.M.F.
1) 0.46 V
2)0.69V
3) 0.21VvV
4)1.1V

18
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[Fe(CN)el* ion has magnetic moment of 1-73
B.M. while [Fe(H20)s]** has a magnetic moment
of 5:92 B.M. Thus, hybridization of Fe in both
the complexes are respectively

1) d?sp?, sp°d?

2) spid?, d?sp®

3) d?sp3, d?sp®

4) sp3d®, sp>d?

Incorrect statement is

1) PbF4 is ionic

2) C-14 is a radioactive isotope
3) O is an acidic oxide

4) Catenation power of Ge = Sn

Regarding electron gain enthalpy (magnitude)
the correct relation is

A)S>Se>Te>0

B)CI>Br>F>1I

C) Ne > Ar > Xe > He

1) A and C only

2) B and C only

3)A,Band C

4) A and B only

Correct match regarding 13th group elements is
Periodic trend Property

) B>AlI>Ga>In>TIl | A)lonization potential

I1) B> Al>TI>In>Ga | B) Density

1) B< Al<Ga<In<TI | C) Electronegativity

IV)B>TIl>Ga>Al>In | D) Boiling point

E) Melting point

1) I-E, 1I-A, TI-B, IV-C
2) I-A, II-E, 11I-B, IV-C
3) I-A, II-A, 11I-C, IV-B
4) 1D, |

D, lI-E, II-B, IV-A

In 171" group oxides, the correct order of stability
is represented as

1)ClI>1>Br

2)Cl>Br>1

3)1>Br>Cl

4)1>Cl>Br

Calculate the magnetic moment of a divalent ion
in aqueous solution. If its atomic number is 25:
1) 3.92 BM

2) 5.92 BM

3) 2.92 BM

4) 8.92 BM

19
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[Fe(CN)sl* swefl 1-73 B.M. smbssamis

FHpewerrsds  Carewieteng, oI8%H  CEHyHHe0
[Fe(H20)]** 5:92 B.M. smbssamis
FHpewertds  CamemiBetengl.  eiediCou, BB

Gamomisefeid Fe &6t seulilenoraasd (LpenmGul
1) d?sp?, spid?
2) spid?, d?sp®
3) d?sp?, d?sp®
4) sp3d?®, spd?

SEUBTEN FaB)

1) PbF4 e1aitLigyl SIuiesnLILIeuTL |

2) C-14 aisiugl e s&fluibas gGFTGLIIIL
3) O aisiugl @ Siflev HMFH

4) Ge = Sn @& FHIF0SHOBTLJTHS Hmest

VBLITET gBGID aaimTeol] (Sena]) Gnds
gflwimer G TL T
A)S>Se>Te>0
B)CI>Br>F>1I
C) Ne > Ar > Xe > He
1) A wBpib C L B
2) B iommib C o1 Bib
3) A, B iomuib C
4) A woipib B ol o

13aug & selwsiseme uBpslw  Fflwmer
QUT(HSHSHLD
SLAITHHTSH CHTLTL LI600TL |
NB>AI>Ga>In>Tl | A) swelwrdasid
glpet
INB>AI>TI>In>Ga | B) 91isd
) B<Al<Ga<In<TI|C) & eidijioenm
FHETENLD
IV)B>TI>Ga>Al>In | D) GardBemev
E) o m@Blemev
1) I-E, II-A, 11I-B, IV-C
2) I-A, 1I-E, 111-B, IV-C
3) I-A, 1I-A, 11I1-C, IV-B
4) 1-D, 1I-E, 11I-B, IV-A

176ug &1 SLEHmIBH6T60, HenevdgHeTenLouest
Fflwimeot auflend

1)Cl>1>Br

2)Cl>Br>1

3)1>Br>Cl

4)1>Cl>Br

FiS5 SmIFals @B S oL S dpe
Careni  Sweluler &Mhdd HHULSDHBeners
B 61D (BRIB6IT. DIH6T Siew) 61601 25 6T6ai60:

1) 3.92 BM
2) 5.92 BM
3) 2.92 BM
4) 8.92 BM
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Botany
Statement I: The breaking of the C-C bonds of
complex compounds through oxidation within
the cells, leading to release of considerable
amount of energy is called respiration.
Statement 1I: The compounds that are oxidized
during this process are known as respiratory
substrates.
1) Both statements are correct
2) Statement | is correct and Il is incorrect
3) Statement I is incorrect and 11 is correct
4) Both statements are incorrect

Which of the following statements are true for

auxin?

1) They help to prevent fruit and leaf drop at early
stages but promote the abscission of older
mature leaves and fruits

ii) Auxins prevents apical dominance which has
its application in tea plantations and hedge-
making.

ii1) NAA (naphthalene acetic acid) and 2, 4-D (2,
4-dichlorophenoxyacetic acid) are synthetic
auxins.

iv) Auxins also induce parthenocarpy, e.g., in
tomatoes.

V) 2, 4-D is used to maintain weed-free lawns by
gardeners.

vi) Auxin also controls xylem differentiation and
helps in cell division.

1) i, ii, iii, v and vi
2) i, ii, ivand vi
3) i, ii, iiiand v
4) i, iii, iv, v and vi

Which one of the following statements about
viruses is correct?

1) Nucleic acid of viruses is known as capsid

2) Viruses possess their own metabolic system
3) All viruses contain both RNA and DNA

4) Viruses are obligate parasites

Assertion (A): Mitochondria are the sites of

aerobic respiration.

Reason (R): They produce cellular energy in the

form of glucose, hence they are called ‘power

houses’ of the cell.

1) A and R both are true and R is the correct
explanation of A

2) AandR both are true but R is not correct
explanation of A

3) Alis true but R is wrong

4) A and R both are wrong

20

91.

92.

93.

94.

www.TrbTnpsc.com

Botany
FBE-l1. QOFe0BEHHGH6T OiHFMCaIBBID LPeVLD
flaseomenr  BFyomiseaier C-C  Lenewilisemern

° ML S5, & 6001 &F LDIT 60T SI66)] SLBMEL
GeueMuiLLILBGeuSBE UleuGLUILG HEUTFID 6T6TN]
SIMSHHLILBH MBS

gammi-11: b5 Qewedum’igesr  Gung)

HHFNCeaBBd QFUIWINUGED CFTImISET FeuTs
SIY CLP6VGHTnNIH6NT 61651 HIMLDEBLILIBHE BT

1) Byewi(h nBBISEHID FHUWITETEmE!

2) gamiml | sflwmeng) wmmid 1 Heuprergi

3) aamimi | Heumtegy wmmid 1 sflwirerg)

4) Brewi® FmBBIGEHD HAIBTHTm6!

EABG LTeTalhHid gnmmiserle 615 &M?

1) Olmer QIIDL S L BIS6T60 LD IDBHBID Benev
o FIHmevdh HHHD 2 H6|HHIBeT, SHLETT60
LemLpW! (LPHTHFH EeN60H6IT LOBMILD LILPHIG 6V 6T
2 FlTHMmev 26186866t

i) Gaulewevd GpmiLmiser wBmd  GCouad
Swmfliieo LILI6OTLI(B &5 63T 60T. ml6dT
U HBHSMDS BB HTBE.

i) NAA (prigeSer oifl 19d Siuflevd) OBBID

2,4-D (2,4-em1_&BenmGymiieméa foifligd

SIfl6VID) BB el QFLIBeNE Db 66
DS eiB6IT L& &GeammamiLilenuiu b

SHITewT(BHEGIB60T, 61.HT., HHHTer

CHM L SHHTITH6T  HMENH6T  E6060TSH

yeoGeuaismenent  ugmoflés  2,4-D s

LIWIGITLI(H &S| esT3 60T .

& SFeir M 6VLD Goupium_emL_&

s BLUUbGSHFBH BB GFed  UfelBE

256 BSI.

1) i, ii, iii, v and vi

3) i, i, iiiand v

iv)

v)

Vi)

2) i, ii,ivand vi
4) i, iii, iv, v and vi

meUTerv&6T LBBiw Leieumd SnBmiseied 615

Fflwimeg)?

1) eweuyervaseien Mugdend ifevd Golifl ereis)
SIMPSHBLILBHS B

2) mauyervsell SieumBflen QFThg aleidlend oM
SiemLoLIenLId OB T6u6T(H6ITeT 60T

3) omaiba magavsend RNA wppi DNA
BrewtenL_ WD O\ TemTIg(hHEH & eT360T

4) e»eugerdameN S LTl gL (hevTeniselt

amml (A): el GLTsTew fundsel STBHDIF

FOUTFHH 6T HENMMIGHEN.

asmenid (R): omal &endsCsmerd  auigeudhded

CFeLaYI6VTT  SIBBeNeY © BUSHFH CFuidlepsen,

aTaBal eMal OFeLIST QBB  BEL6VRIBEIT

STIBI IS BB 63TN360T.

1) A oppib R @yewiGd Ff @b R ereug A
®evt Ffluiment allengaLd

2) A opmib R @yemiio oM eypemed R erasiug A
®evt Fflwimen alleN&HLD HI6L6V

3) A aiasiug &l gyemmed R ereiiLig Heup)

4) A opgib R @resiBid seip
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Fixation of one CO2 molecule through Calvin
cycle requires

1) 1 ATP and 2 NADPH

2) 2 ATP and 2 NADPH

3) 3 ATP and 2 NADPH

4) 2 ATP and 1 NADPH

Match the following.

a) Hypodermis in dicot|i) Absent

stem
b) Pericycle in dicot stem |ii) Parenchymatous
c) Ground tissue inliii) Collenchymatous

monocot stem

d) Phloem parenchyma in
monocot stem

iv) Sclerenchymatous

1) a-iii, b-iv, c-ii, d-i
2) a-1, b-ii, c-iv, d-iii
3) a-iv, b-i, c-iii, d-ii
4) a-ii, b-iii, c-1, d-iv

95.

96.
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asrevalen apBd peod @b CO2 cpeudamens
Hlen6VHBISHHIHBE SIeUFWILDTEISH]
1) 1 ATP and 2 NADPH
2) 2 ATP and 2 NADPH
3) 3 ATP and 2 NADPH
4) 2 ATP and 1 NADPH

Ll&d16U(HeuadTeUBenMBLI GILIT(HHHALD.

a) BmalsHamevd HemiBHEemev |1) Hevenev
® _siTelm e»ABLICLITOIL JLol6rD

b) Bmelsdamevd HewiBaenev |il) LUTTeTens
®_eitenT GQLIfleng dbadleit LDTGUTGOTGIT)

C) @HaSHHen60d HeuTige0 1ii) Gsmeveiiens
© 66 H611d &Hd LOTEUT6VTGII ]

d) @melsdemevd; Hemged 1V) eroalerfl Gy est
o eiter LJGemmmuid GMEBLDTAIT6D
LIITIJ 63160 &BLOT DG

1) a-iii, b-iv, c-ii, d-i

2) a-i, b-ii, c-iv, d-iii

3) a-iv, b-i, c-iii, d-ii
4) a-ii, b-iii, c-i, d-iv

Match the following.
Bioactive Role 97. LsaumaIaiauBmBLI QUITHSHHALD.
Substance 2 Uy GeudHuilwed LG,

i) Statin a) Removal of oil stains QUIT(H6IT

ii) Cyclosporin A|b) Removal of clots from blood 1) erd@L 19601 a) GTWTOGIIUI &ENI3HEMET
vessels DIBHBBISH60

iii) Streptokinase[c)  Lowering of  blood i) ena&Genm b) 8185 Bremmiseied Qbbal
cholesterol eroGuimflesr A B 19HM6T SIHBBISHE0

iv) Lipase d) Immunosuppressive agent iii) e QyiiBLT  |C) By Gamegriontiss

1) i-b, ii-c, iii-a, iv-d __ »aGarerd GMBEHH60

2) i-d, ii-b, iii-a, iv-c V) 69L1GLIerd d) Gprewitiyg $EOY

QL))

3) i-d, ii-a, iii-b, iv-c
4) i-c, ii-d, iii-b, iv-a

Assertion (A): Introns are not found in mature

RNA after post transcriptional modifications.

Reason(R): Splicing, occurring after

transcription involves removal of introns.

1) A and R are true and R is the correct
explanation of A.

2) A and R are true and R is not the correct
explanation of A

3) Ais true, R is false.

4) Both A and R are false.

Embryosac is best described as
1) Progenitor of next generation
2) Mitotic product from zygote
3) Female gametophyte

4) Megasporangium

98.

99.

1) i-b, ii-c, iii-a, iv-d
2) i-d, ii-b, iii-a, iv-C
3) i-d, ii-a, iii-b, iv-c
4) i-c, ii-d, iii-b, iv-a

Lbem gl
&0

app (A)  URCWLEHSNIGEG!
IBpHRsEhsGL  LIBG WwHibs RNA
B\GBIL_TT6ITH6T HTMILILIL a1606M6V.
ememb(R): LRoLESsSGI LIBE gBUBL

Leey, BT TETHEm6T SIFMMICUNSH

IO () (I X: TR T

1) A opgid R afl, R ereiiugy A @6t gflwimen
alleméHLD.

2) A opmgib R &M, R aeiug A Qe Fflwime
AI6ITEHBLD SI6V6V

3) A &1, R e1aiiug) seuml.

4) A oppitb R @resiBid Seummetene.

s(mLiemUeW HABLLms afleuflbapgi

1) 921655 sweopenBuller (etGerig

2) »FBaTL 1960(HbH&! eMLOL L Mg SuImiliiL]
3) Quiewt G GLmenLI

4) Quosmero@umymehdluwib
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100. If a cell has 2n number of chromosomes in G1-
phase, what is the number of chromosome in cell
after S-phase?

1)n

2) 4n
3) 2n
4) 8n

101. In RNAI, the genes are silenced using
1) ssDNA
2) dsDNA
3) dsRNA
4) ssRNA

102. Which of the following organisms has
chloroplasts with pyrenoids?
1) Chlamydomonas
2) Selaginella
3) Cycas
4) Hibiscus

103. Assertion (A): Mitosis is equational cell

division

Reason(R): During mitosis the daughter cells

receive the same number of chromosomes as

parent cell.

1) A and R are correct and R is the correct
explanation of A

2) Ais correct but R is false

3) A and R both are false

4) A and R are correct and R is not the correct
explanation to A

104. Anaphase of mitosis and anaphase Il of meiosis
are identical in involving
(i) Chromosomal segregation
(ii) Doubling of chromosome number
(iii) Chromosomal recombinations
(iv) Chromatid segregation

)i, ii
2) i, iv
3) i, iii

4) i, iv

105. Non cyclic and cyclic electron transports in
chloroplast are similar in involving
1)PS
2) Proton accumulation in lumen
3) Assimilation of CO>
4) 1and 2

22
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100. QB QF60660 Gi-pleneouied 2n
&GrmBLOTBaTIDSH6T B (HHH TV, S-Hlemevd@Ll LIBE,
GFevevled 2 _aitenm &GymGLOTEFTIN6HT 6T6mT6m &M
6T63T60T ?

1)n

2) 4n
3) 2n
4) 8n

101. RNAI &6d, wyUgmisseT Sendl LweLBSH
SIMLOHWITE B ILI[B S 63TB6T
1) ssDNA
2) dsDNA
3) dsRNA
4) ssRNA

102. LT 6T6u(HLD ohS o ulflenggev
emLIflemuIBaBEHL 6 Fnlgul &GemmGrmLilenTerdL &6t
® 6iT6men?

1) @denmAGLmGLomeTTerd
2) QF60T23 Q66060
3) mFHED

4) QFLhSHS)

103. gammi (A): eowol LTdlerd eTediLigy FLoauml ( Glge0
tifle) k&L
anmyenid(R): enwol Lrdlendesr Guing) Gaul GFevmar

ST GgsvemeuLl GumeuBa 2685
6T6U5T6U0T) &b 61 & LT 6OIT 60T &CynBom@amibaemerL
CUImIF 63 60T

1) A opmib R sgflwrerensy, R eteiugy A et
Fflwimest a6 aLd

2) A eaaug Fflureign epemed R ereiug)
SUDBTCISHI

3) A oBpib R @yemiBio Seumreiene

4) A wpmib R eresiug) sflwimeng) wmmid R eresig)
A &@& Fflwimet allensbald Sl606v

104. vl BLrdlenfleir o1emmGLierd LoBmID Olwimelendlest
olemBuerd Il g Fwemen @Fev @Gy
orglfluimeseney
(1) ®8ymGLomGamiomed L1 5H60
(i) @G8ymBLomGamomed eTemTenewT GTL IQUILITEEH60
(iii) &GymGnGamoTed BT Mm®®6iT
(iv) &Gymomgl” 196 s60

1)i, ii
2) i, iv
3) i, iii

4) ii, iv

105. &Benmm@ymilenmerdiged o 6o GHOBF SlLEVTH
LoBmILD FHOMF 61608LFTesr CUITEH G 6T SHHIH6T BFH60
PSHHM6U
1)PS I
2) 2 I u@&uled LGym Lt GHailli
3) CO2 @& e(mmIdenewiiL]

4) 1 wipnb 2

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://www.padasalai.net/
https://www.youtube.com/@Padasalai-net

www.Padasalai.Net

106. Glycolysis does not include
1) ATP investment
2) ATP synthesis
3) Oxidation of triose sugar
4) CO2 release

107. In flowering plants, microsporogenesis and
megasporogenesis occur respectively in
1) Anther and ovule
2) Pollengrain and megaspore
3) Ovary and ovule
4) Anther and pollensac

108. Thalamus develops into false fruit and edible in
1) Tomato, Banana
2) Apple, Strawberry
3) Guava, strawberry, Banana
4) Mustard, Ground nut, Rice

109. Match the following columns w.r.t probabilities
of F2 progeny of Mendelian dihybrid cross
a) Parental phenotypes i) 1/16

b) Recombinant phenotypes ii) 10/16
c) Parental dominant phenotype|iii) 9/16
d) Parental recessive phenotype |iv) 6/16
1) a-ii, b-iv, c-i, d-iii

2) a-ii, b-iv, c-iii, d-i

3) a-iv, b -iii, c-ii, d-i

4) a-iii, b-ii, c-i, d-iv

110. In Avery, Macleod and McCarty experiments
transformation of R strain bacteria into S strain
was inhibited when _ was used
1) RN ase
2) DN ase
3) Protease
4)1land 3

111. Statement-l: Transcriptional unit is DNA
flanked on either side by promoter and
terminator
Statement-1l:  Translational unit is MRNA
flanked on either side by initiator codon and
terminator codon
1) Both S-I and S-11 are correct
2) Both S-1and S-11 are wrong
3) S-lis correct but S-11 is wrong
4) S-1is wrong but S-11 is correct

www.TrbTnpsc.com

106. emenBsmansvdleniied CFJohaLILIL TH)
1) ATP 1p5656
2) ATP Q@i
3) L anyGuimerd Fiydbaemyuilen oydhdmGarimLd
4) CO2 Geueflui®p

107. yse  sraugmiseie,  wWEGFTErOCUTGTT
Omefdled  oBmId  GoaTerBUTEITER6T Flerd
(WemBEW [BleLDas6vTmeuT
1) &IHSID BBID SH(LPL L
2) BHHSHHHIH6N OBBID GLoETerd@UITT
3) s(BLIeMLI OBBID SH(LOL DL
4) wsIHHLID BEBID SIHSBLIHL

108. seomoerd GUTE) LIDIDTEHAD 2 6UTE0ISInIQUI-
SHTHALD 2 (HeUTHBSH)
1) darerf, eumenpriLipLd
2) sy, eror yrEuf)
3) Qamuiw, 6o yreLfl, eurenLpLILIPLD
4) 3B, HevdsLmev, SIfld]

109. Gwewi_edwesr @rlent & sevlleibHer F2

gFhSHH W enfleit HlBLDSHBH6)BEHL 65T CILIMT(HHHIS

) QuBGBTT UBHCHTBMB el HID i) 1/16

b) pIBsiTsma LBHCHTHE aldlsn  |ii) 10/16

C) GUBCBT) Sy HHID CFHSEID iii) 9/16
LBSCHTHH aildlHID

d) CUBEBTY @BEIG LUBSHCHTHB
A& FH1d

1) a-ii, b-iv, c-i, d-iii

2) a-ii, b-iv, c-iii, d-i

3) a-iv, b -iii, c-ii, d-i

4) a-iii, b-ii, c-i, d-iv

iv) 6/16

110. omeufl, GwsHeIBWT.  WBBID  OLO&HETTIY
Gargemensefled _ vweu@sHSILLLCurgl R
alemd LTseflumemel S eaumnsWTs  TBBIeIs]
SHSHBUILILL G
1) RN ase
2) DN ase
3) Protease
4)1land 3

111. smpp-l: LYOWIBSHHL levE, etetig DNA-alesr
BB 2a1d@GallILTeT DBEBID (LIQLILITES-S,60
&,LOLILIL (BeTTeN gl
gppl-11: Qumheuwgiy kg eeg MRNA-
alleir HUMBIPLD Hieuda) GHTLTesT LOBBILD (LY &HEHLD
GaITLmenTm60 &, LOLILIL (66
1) S-1 wpmid S-11 yewiGid Ffluwirerene
2) S-1 wBmid S-11 @yewiBid Ffluimerenel
3) S-1 gflwmeng) eyemmed S-11 Haupreang)

4) S-1 seupreng syemed S-11 Fflwimerg)

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://www.padasalai.net/
https://www.youtube.com/@Padasalai-net

www.Padasalai.Net

112. Restriction enzymes are
1) polymerases
2) Ligases
3) Lyases
4) Nucleases

113. Statement-1: The separated bands of DNA are

cut out from the agarose gel and extracted from
gel piece is called elution.

Statement-1l: The normal E.coli cells do not

carry resistance against kanamycin, tetracycline,
ampicillin and chloramphenicol.

1) Both S-1 and S-11 are correct

2) Both S-1and S-I1 are wrong

3) S-1is correct but S-11 is wrong

4) S-1is wrong but S-11 is correct

114. Match the following and identify the correct

match
a) Golden Rice I. Gene silencing
b) Bacillus|ii. GM rice rich in B-
thuringiensis carotene
c. Transposons iii.  Mobile  genetic
elements

d. RNAI iv. Biopesticide

1) a-ii, b-iv, c- iii, d-i
2) a-1, b-iii, c-iv, d-ii
3) a-iii, b-ii, c-i, d-iv
4) a-iv, b-i, c-ii, d-iii

115. Observe the following diagram and identify A

and B

1) Bacteriophage-A-sheath, B-Tail fibrils
2) Bacteriophage-A-head, B-Tail

3) Phytophage-A-capsid, B-core

4) Zoophage-A-collar, B-Tail

116. Which of the following is correct expression?
1) Holo enzyme = Apoenzyme + Inhibitor
2) Holo enzyme = Apoenzyme + cofactor
3) Coenzyme = Holo enzyme + apoenzyme
4) Apoenzyme = Holo enzyme + coenzyme

24
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www.TrbTnpsc.com

. &L BLUIUTH OBTH®6l
1) uredGrerdaeit

2) 60Bs6r0H6

3) ameuBuerd&B6IT

4) My sefBuierdaseit

. gapml-l: DNAaler Uflésiul’ L Ul e el
SI15BCITer FnlplodH eV (HHEH Ceul LU (B Fnlblod
&lengedlb g LNfl05HBHSLILBES STmBeT.

gmpp-11: FITSHITT6u0T F.GaTeme0  OF60B6IT
Oxemmeniodlert, G grengdefer,  oyibLld el e
wBpib  GGemymbousisTed  SLBwuBmBiBG

THTTS THTLImLS QBTG (HDHHANEL6MEV.
1) S-1 wBmid S-11 e Fflwireiene
2) S-1 pmid S-11 ByewiBo HeupTeienel
3) S-1 sflwneng) eyemmed S-11 Haumreaig
4) S-1 seupnengl syemev S-11 Ffluireigi

UeieumeusdiouBenmpll  QuIhdbg  Ffluimen
QUT(HSHHHMS DML WITEILD HTEHIRLD
a) GaTeOL 65T emyerd i. OyLUG
SIS LB HH60
b) Gudleveverd ii. B-a&Gym 1gest

&Ifleh&l6leirelerd Blevmibs GM oy d
C. yratero@uranaiser |iil. QOTENLIGY LG
Fn IEB6IT
d. RNAI iv. 2_ulfluied
L& Fd6am6060

1) a-ii, b-iv, c- iii, d-i
2) a-1, b-iii, c-iv, d-ii
3) a-iii, b-ii, c-i, d-iv
4) a-iv, b-i, c-ii, d-iii

115. Yemeupd euedILIL HendHd Seuaiham A woBmib B

M SIGNL_LITEITLD &T630T6)LD
A

1) unsefCWTBu-A-2_my, B-aumed mrflenipset
2) unsleflGuTBugly-A-gHmev, B-aimed

3) ewu’ BLmBU-A-Cx1181, B-2_enm

4) eBug-A-51pSHSINL e, B-aumed

116. desreumeuateumnsled e1g aflwimes Geuemiim®?

1) GamrGeur eTesiend1d = SIIGLITEIGTIENF LD + allenedt
5ICININ]
2) GamrBeor eTETENEFID

SIIGUTeTEIeNFD  +

©5)6%) 6007 &5 BT[] U0

3) @mean OpETd = GamrGem e +
SILIGUTeTaTEn FLD

4) oBumeaiengd = GamtGeom eeEnFD +
B en6mT6I0TeNFLD
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117. In which of the following, F> progeny of

monohybrid cross show three phenotypes instead
of two phenotypes

(A) Dominance

(B) Co dominance

(C) Incomplete dominance

(D) Linkage

1)A,B

2)C,D

3)B,C

4) A, D

118. Which of the following is soluble RNA

1) -RNA
2) m-RNA
3) t-RNA
4) SNARNA

119. Universal metabolic pathway in all organisms

is

1) Calvin cycle
2) Glycolysis
3) Light phase
4) Fermentation

120. Read the following statements

(A) Wall layers in pollen grain

(B) Steps in PCR

(C) Meiospores from a meiocyte

(D) Seeds in mango fruit

Place the above in increasing order with respect
to number

1)A,B,C,D

2)D,A B, C

3)D,A,C,B

4) A, D,B,C

121. Which one among the following is NOT an

example for competitive inhibition?

1) Drugs against bacterial infection

2) Malate and succinate dehydrogenase

3) Statins and cholesterol synthesising enzymes
4) High O2 and RuBisCo

122. Blue white screening method of selection of

transformed cells is based on insertional
inactivation of a gene producing

1) Antibiotic

2) X gal

3) Enzyme (B-galactosidase)

4) Endonuclease

www.TrbTnpsc.com

117. L6316 (66T BMI6NT 160, @ (THLIGUITL]
G&BISGO g F2 shsdl BB LBHEHTed
B HRIBEHHGL  LUHeoTdH  elpeiiyl  LBHBHT60
A& Hmisemens ST (HH B
(A) eygsbsid
(B) @enemt 8 dm1d
(C) wwmwwiBs SFoeLb
(D) 8emewtiy
1A B
2)C,D
3)B,C
4)A, D

118. eeumeuereumed 61 Hemruidbdnigul RNA
1) rr-RNA
2) m-RNA
3) t-RNA
4) SnRNA

119. sasa o ulflaomseiad o sosenmaill
aueTFleng LOTHM LITeNS
1) smevailent gipmd
2) denenGasmedldlerd
3) @ofl &L LD
4) G 3 BHe0

120. Uesteu(pld FnBm3ISemENTLI LIQUHBISH6IT
(A) arHs Braluighdled sell OIBSE®6iT
(B) PCR @60 Ligaeit
(C) @ WBWTenaL 1960 hHba! LOGWITero@UITT&6iT
(D) wmibLipgded alleng e
arentemenill  GuTmISEH  GwGev o siTeneumens
SIHFf B auflenFuied eneusbHa|LD

OWO O

121. OeteumeuamouBmiled 61z Gumiid  HBHUILDHG
TBHHIHHTL_ B Dl6L6V?
1) undlefuim QHTBBIGE 1T LO(HHEIH6T
2) 1onBeul” o@D FHFCe 1eamamL GyradGererd
3) eBLIgaIB6T BEID GQETIprg  QFHTGLILY
QBT &H6i
4) o18s O2 wimb RuBisCo

122. o momiw GFevsmend BCHIbHOBHBHEHGW HeO
GleusiTemensd; Hewgui 6L (Lpemm, & ML CFUILLD
wrUeEeDeLF CFHSGL CFwWeasassF CFuiams
SIQUILINL WLITHEH O\SBTemIL i
1) 2 _ulilit erHir@QuIm(meIT
2) X gal
3) OpTa (B-Bx605B8LTHGL 1))

4) eremtGLmmluyderfGuierd
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123. Observe A, B, C and D. Choose the correct set
of kingdoms to which they belong as per

Whittaker s classification
*%\\\i

AN
1) Monera, Protista, Fungi, Plantae

2) Plantae, Protista, Monera, Fungi
3) Fungi, Plantae. Monera, Protista
4) Protista, Fungi, Protista, Monera

124. Match the following in relation to the concept

and its explanation

a) Gametes are always pure |i) Codominance

b) Heterozygotes resemblefii) Pleiotropy
both parents

c) Physical association of|iii) Law of
genes on a chromosome segregation

d) Single gene produces more|iv) Linkage
than one phenotypic effect

1) a-iii, b-i, c-iv, d-ii
2) a-1i, b-iv, c-iii, d-i
3) a-iv, b-iii, c-i, d-iii
4) a-1, b-iv, c-iii, d-ii

125. Which are non membrane bound cell organelles

observed in an eukaryotic animal cells?
(A) Ribosomes

(B) Inclusion bodies

(C) Centrioles

(D) Plastids

1) Aand B

2)Band C

3)Band D

4)Aand C

126. Wind pollination, scutellum, intercalary

meristems, bulliform cells, dumbell shaped
guard cells, coleoptile and coleorhiza are
observed in members of

1) Lily family

2) Potato family

3) Bean family

4) Grass family

www.TrbTnpsc.com

123. A, B, C upmpb D m& seuaiubiser.
Al L& fl61 suenasl LT g6y Slemed CFihs
® suamIG6Me Fiflwimer Gl oL BxIbosbHEHH

AN
1) Guomestiym, LGITLI19erOL T, L 6hend, LTemTemiGL
2) Nenmewt@L, yGymL_igerdLm, Qomeliym, Ly 6henea
3) yehend, LlenmewtGL . Gomeliym, LG 196rdL T
4) LGBy igeroLm, L@hewd, LGTTL 1gerdL T, Qomesiiym

124, smeH3 1OBDBID ST aNeNHBHHIL 60T
Q&L Le»L W L6 (heueaTeuBenBLI GILIT(HHHAILD

a) CaL8_se6lT e IGUITGID 1) B @EG
SHITUIGH LOULITETEm6M SHETGOLD

b) Gami GL1GyrenaGasm_aeir |ii) NeMGuim’ Gymia
B\ CuUBEBTTSemeTu LD
@SS hbeElmen

C) 9 &BymGrGamiied i) S He0 ol g
LOT LI!S E561T 60T @UIMLIUI60
O Ly

d) @by WILED FENIGES  |1V) Seeurii
GoBul L yBSCHTBB
allenernenel
® _(HOUTHSGHBSI

1) a-iii, b-i, c-iv, d-ii
2) a-1i, b-iv, c-iii, d-i
3) a-iv, b-iii, c-i, d-iii
4) a-1, b-iv, c-iii, d-ii

125. wamlGuwimgs alevmid GFeosefled @mewiliLHID
F6iley B606VTdH GlF6L 2 6TEHMILILGET WTEn6u?
(A) ewgBuTBamibs 6T
(B) 2_sitenL_éaw o 1061
(C) QaafGuimevessit
(D) Wenmerdigr aeit
1) Aand B
2)Band C
3)Band D
4)Aand C

126. smBm  wsIhsF BFIHmd, OGO EV6VLD,
Bl BTV QLflerdOIL Lbeba6T, L6L6V.".LUMITLD
QFe0®H6IT, FLIEMTSHL ML 6UIgel LITHISTLIL ClFe0sHe6T,
Bamed@uwimienL_60 LOBBILD Bamed@uimfl T
S FHULIEN6)

1) 696060 @@BLDLID

2) 2_(HemensbApHIE, &BLDULD
3) 1681 & (BLouID

4) 160 & {Bbud
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127. Whatis A, B, C, D?

Microbe utility |Bacteria Fungi
Household Lactobacillus A
Bio active B Monascus
molecules
Biopesticide Bacillus C
thuringensis
Bio fertilizer D Glomus
1) A-Yeast, B-Streptococcus, C-Trichoderma,
D-Rhizobium

2) A-Streptococcus, B-Yeast C-Rhizobium,
D-Trichoderma

3) A-Trichoderma,
Streptococcus,
D-Yeast

4) A-Rhizobium, B-Trichoderma,

D-Streptococcus

B-Rhizobium, C-

C-Yeast,

128. A unit composed of _a_and _b_ linked by c_

is a nucleoside. What is a, b, and c?

1) a-Sugar, b-Phosphoric acid c-Phospho ester
bond

2) a-Sugar, b-Nitrogen base c-Glycosidic bond

3) a-Nitrogen base, b-Phosphoric acid, c-
Phosphoric acid

4) a-Phosphoric, b-Nitrogen base, ¢ -Hydrogen
bond acid

129. Which of the following is incorrect way to
introduce alien DNA into host cells?

1) Bacteria is made ‘competent’ to take up DNA
by treating them with a specific concentration
of a divalent cation, such as calcium.

ii) Recombinant DNA is transfered into
competent bacteria by incubating the cells with
recombinant DNA on ice, heat shock, and then
putting them back on ice.

iii) Recombinant DNA is directly injected into
the nucleus of plant cell by microinjection.
iv) Recombinant DNA is directly injected into
the nucleus of an animal cell by biolistics or

gene gun.

v) ‘Disarmed Pathogen’ vectors, when allowed
to infect the cell, transfer the recombinant
DNA into the host.

1)iandii

2) ii and iii

3) iii and iv

4)ivand v
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127. A, B, C, D @niliiug eresten?

HIewTEIUTT umdlefluim L} GhonF
Liwlearum(h

Y]] 6uTeGLTBLSever A
Liwtearum(h

o ulfl GFuwev B GromenTerdaerd
CLP6VE Fn BI&H6TT

o uijy Budleverd C

L FFH6aT6060 |BHIflehFGuiaFlern

o uily o _rib D &BemTLeTd

1) A-meroL, B-eror QriBL s m&aser0,
C-LanysBamOLjiom, D-eny@amuib

2) A-eroL QriGLTame&erd, B-merdl
C-any@amiwib, D-1_enysGsmGILijLom

3) A-L_eny&BarOLiiom, B-engGamiiluib,
C-ar0L QrriBLiamabaerd, D-merdi_

4) A-eny@amiwib, B-1Ienys@srOLjiom, C-merdl”,
D-erdl Q@& T & erd

128. a  wpmpi b gFweaBes € e
BmMISGHD R DVSG @H HudbelCuTeng®
SLGID. 8, b oBEId ¢ GXIug ereben?

1) a-gssamy, b-uted@umiles ouflevd C-umerd@UIT
6T6TOLIT LTl6em6uTLIL |

2) a-gijébaemi, D-enbL Te6T SMyLD,
C-HenenBamdligs LNememtiiL]

3) a-ewibl regest &b, b-urerdGumflé @ufevib, C-
umeroGumflés ojLilevLd

4) a-umero@uimflés, b-enpL Feg6sT HTILD,
C-emaBL et LlenerliL] Siflevd

129. Ueiteu(meucmouBiled 61g iGN  1Q6TEITE M6
@yulfl  QFsvseafled  DISI(WHLILIGSHSHISHBETET
SHaUBTET auf?

1) sreodlwid GuTelis b G L Gapfeyser
@7 L enentHmeir Glamenil GhTLO6T cLpeOLD

faFemawaiiiger eLPGULD umaterfluim
eTaiTgIeme  GI(BHHIHCETeTEN  'FHmemouwiTs'
SHBLILBSBSH.

i) wpIGsTHme 196aiganal Lissiuled wpiGaita:meas
QETTTAL BT DIMLBTHSI, Oeulil DIFHT&FS
CFuIgl, e oleumens LB Liefluied
MAULILIGHEI cLP6VLD FHBewLowiment LTdslefluimeurs
LTBBUUGSBSI.

i) pIBFTHMa 196163T6] GHTIQUITS HTeuy GlFe060 6T
&(H6Y (G 6T 51600763011 LI o eLPGULD
CFISSILIGHBSI.

IV) 1pIBFThma Ig6teig GhIgwIte 2 ulfluied
SIVLGH! TGN SHIILTSHS  eLpevLD  alleVmIE)
0F6060 65T BH(HEYHG6T CFVIGHILILIBB MBS

V) ‘Brmuysureniiwmer CrTUISS®HIO' HL&HHH6,
CFevemevll UTHES SIS SHSLILIHLLEUTSI,
pIGaTHmS 1eraitgfenel @LbLulifle@ LoTBBILD.

1)iandii

2) it and iii

3) iii and iv

4)ivand v
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130. Two carbon compound formed in chloroplast
during photorespiration is
1) Glycine
2) 2-phosphoglycolate
3) 3PGA
4) PEP

131. The figure below shows five steps (A, B, C, D,
E) of embryo development. Select the option
giving correct identification together with what
is represents?

1) C-Represents mature stage of embryo
2) D-Formed by meiosis in zygote

3) C-Represents globular embryo

4) A- Zygote formed by triple fusion

132. Human cells divides once in approximately
every
1) 24 hours
2) 5 hours
3) 90 minutes
4) 20 minutes

133. Notochord is persistent throughout life in
1) Hippocampus
2) Scoliodon
3) Salamandra
4) Ascidia

134. LH surge induces
1) menstruation
2) parturition
3) fertilization
4) ovulation

135. Integral form of the exponential growth
equation is:
1) Nt = Noe'
2) Nt = Noe°
3) Nt = Ng e
4) No = N¢e"
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130. gefl&Baismauier Curg @&Genm@ymiemmerdiged
2 (HhoUTGLD @6l HMJLIGH SH6V60)6H6IT
1) dewendles
2) 2-umerdGuimalenen@eamGeul
3) 3PGA
4) PEP

131. &8 o 6tem UL & euenf&FHuler bl
ugasemen (A, B, C, D, E) &mn Gémal. sflwimer
SIMLWITETSHmS IR aImnHFH CHIHOHHHS

1) C-amalsr Wwdibg Hamevmws &BléS s

2) D-ana@ait_1960 1OWLITHloT0med 2 _(HeuTshaLILL L g
3) C-Gaiten H([Hemaudh G&NleHma

4) A- cpallenamtaumed 2 (Heumdalitl L enF@aimL

132. weailg GFevaE6T CHTITUILTS @6IGEUT(H (LPeDBULD
Liif) &l e eor
1) 24 el Gpiyid
2) 5 wewfl GpyLd
3) 90 PiflL_mimelt
4) 20 MioLmigeit

133. GpTBLramjl  eumPETET  (PIPeUBID  B&e0
Blemevd Sl (hBESLD
1) anfiiGuITaMDLIGD
2) eroBesmeGuuImL_est
3) GT6VLDGUIIL [T
4) o1fliguim

134. LH eiqpsdlenwig, gmewiGeid)
1) wrgalLmul
2) ygeutd
3) &SI HB60
4) semi_al®Griy

135. 915B6us suenif&Fd FLOGIUITL 1965 & (HHILen6mihdH
6UIQAIID!
1) Nt = Noe
2) Nt = Noe°
3) Nt =N, e"
4) No = Nee'

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://www.padasalai.net/
https://www.youtube.com/@Padasalai-net

www.Padasalai.Net

Zoology

136. Statement-1: Adhering junctions facilitate the
cells to communicate with each other by
connecting cytoplasm of adjoining cells, for
rapid transfer of ions.
Statement-1I: Gap junctions help to stop
substances from leaking across a tissue.
1) Both statement | and statement 1l are true
2) Both statements | and statement |1 are false
3) Statement | is true but statement Il is false
4) Statement I is false but statement I1 is true

137. Which of the following is not the feature of
simple columnar epithelium?
1) Flattened cells with irregular boundaries
2) Nuclei are located at the base of cells
3) Free surface may have microvilli
4) Found in the lining of stomach

138. Which of the following occurs during
expiration in humans?
1) Contraction of diaphragm
2) Increase in the volume of thoracic chamber
3) Relaxation of external inter-coastal muscles
4) Decrease in the intra-pulmonary pressure

139. Which of the following contraceptives are very
similar to each other in their mechanism of
action?

1) Saheli and cervical cap

2) LNG -20 and progestasert
3) Nirodh and Cu-7

4) Vault and Vasectomy

140. Assertion (A): The number of action potentials
that could be generated in a minute vary at
different parts of the nodal system
Reason (R): The nodal musculature has the
ability to generate action potentials without any
external stimuli
1) A and R are true and R is not the correct
explanation of A

2) Ais false, but R is true

3) Alistrue and R is false

4) A and R are true and R is the correct
explanation of A.

141. Sickle cell anaemia is controlled by a single pair
of allele
1) Hb” and Hb®B
2) Hb”tand Hb”?
3) Hb” and Hb®
4) Hb® and Hb”!
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136. apyi-l: QUL EHmQUI FHALILS6T Diwemaerei
alemyeurer  LFOTBBSHHBSTH,  DIHS eVI6IT6N
CFevmeien eal CLTUMTFHMSH EenewILILISH6H
epeuld  OFLHET  QHeUHBOBT(HEUT — CIBHTLTL
OsmeiTen 256 dl 6360,
appl-1: BenL Qeuel FHAIB6T @h FHFidbDHerie0
QuUT(BHLH6TT BFloumBHdH HBHHH 256 eT360T.

1) gammi | oBmid gapm | ByewiGid &

2) a3l | oBmid gapu |1 yewiGio Heupreareme
3) gpml | 1 eyemed gapm |1 Heumy

4) aapul | seum Speimed dmmml 1 ol

137. UeteumeuemeuBsled 61 eTeriill  HIT6WT  6UIg6M

L1 8560UISH NG LIGHTL| Dl606V?

1) QUDBIBBB  6Te0MEVHM6TSH  GleBmamiL
FHLemLUWIT6 GF60&H6IT

2) SIEIBHHBHET OFevsaillar DgriLIGHuled
SDINLOHSHIGT6T6E

3) 2_&80Upiled enosGrTalevenen B)(hHE&6e0TD

4) euulBnslest Lpeniuiled srenTIuBGEBE!

138. deseumeuameumpisd aflsTHened Seurdld@L
Gurg 615 HBLSBHI?
1) o _srelHeaid &ihoHamh
2) L SeBUleT Siene| I B
3) QeuefiiLs &L Geumy Henaweriledn Herjey
4) o_sit-pinruiyed SiwHHHHe0 Genpey

139. Uaeumbd  SHEHHMLB6T0  61H  Dleumipsledt
Cgweoum’ B  CpBiipemBuled  QaIBISCsTaIN
sald @SS (HeSBSHI?

1) #Gamel OB SFCILILIEHL 6uTUT QST
2) LNG -20 ioimiid 1iBymeiggerdr @

3) BI8yg wmmib Cu-7

4) eumevl LoBEID UTEFSHL LA

140. amm (A): @ HIOLSHH0 2 ([(hauTbsddnigul
Cgwed  FHpeaiseller  eeuenidomsd  GBHTL6D
Siemwliier GeusGauml LG FHHeaMed LTBILIGLD
smyewid (R): GrTLed HmF 6lbgd  Geueliim
SHTWI(BHH60BEDHD B606VTIOE0 CIFUID FHBeiHemer
® (HUTHGLD Hmenerd O\BHTemt(BeTeng
1) A wpmib R gfl wopmid R eresiug A Seir Ffluimest
AI6ITEHBLD SI6V6V

2) A a&TUG HBTedl, SLemmed R erasiug) &

3) A eraiiugy gl @b R e1aiug) Seupreng

4) A i R ereiug) &M opmin R eremig A @i
Fflwimeor ailendaib.

141. sifleuneit Gged QIHs Comens BHFH @BV
Bememt DI60ES60SHEMTEL S BLILIGSHILILIBS B
1) Hb” and HbB
2) Hb*t and HbA?
3) Hb” and Hb®
4) Hb® and Hb”!
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142. The cells of Bowman®s capsule that wrap
around the glomerular capillaries are
1) Podocytes
2) Fibrocytes
3) Adipocytes
4) Chondrocytes

143. Which of the following drug interferes with the
transport of dopamine and has a potent
stimulating action on CNS?

1) Heroin

2) Barbiturates
3) Morphine
4) Cocaine

144. Which of the following is the bone of pectoral
girdle?
1) Clavicle
2) Occipital
3) Carpal
4) Zygomatic

145. Choose the incorrect statement about predators

1) Acts as conduits for energy transfer across
trophic levels.

2) Phytophagous insects are considered as
herbivores but not as predators

3) Help in maintaining species diversity in a
community.

4) Biologoical agricultural pest control is based
on the ability of the predator to regulate prey
population

146. Divergent evolution explains about

1) different structures evolving for the same
functions

2) similar structures evolving for the different
functions

3) different structures evolving for the different
functions

4) similar structures evolving for the same
functions

147. Which of the following ecological pyramid is
generally spindle shaped?
1) Pyramid of biomass in a sea
2) Pyramid of number in a tree ecosystem
3) Pyramid of energy in a grassland
4) Pyramid biomass in a forest
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142. @Genmiohev] HIHIGHTUISM6NF  SHBUl6iT6n
Oiemomentl 6T &5 6uoTemT g 3l6tT g 60 6IT
1) GuBLTena L BHebe6iT
2) . .eoUlIByTenaL (Babe
3) S19CUTEn &L BaH6IT
4) srewt_GymenaL (habeit

143. Jde&eu@md  pphaiseieo  o1g  GLTLEnLDEST
SLHSHIUBGH00  GHBISHBHMBSH  OBBILD  EHLOWI
BILDL DRI 60SHH T GFweOLT DL HTewT(BLD
FHmenerds CBTewIBHeiT6eNSI?

1) Gamymufesr

2) Ui C wy, Gy (Heseit
3) iy est

4) Gabirenebent

144.  desreu(meusmeumnsiev
QUEMGTTUISH 60T 6TEVILDL]?
1) srenyGuIgIbL]
2) 9L ereuIDLy
3) wenildbaLl B 6TaVILDL
4) seaiansHen alememeUIEIDL|

agl  GBzmeir  eeIbLy

145. GauledL WITBUaITH6T LB SHeUBTET FnBenmd
CoIHOS GBS
1) oo’ L Blenevseied SuBmed LIFIOTBBES BHT6

GWTUISNMTEF OFUIOLIHHBS).

2) Ul BLmuTHerd L FSSH6iT HToUT 2 emtenisenTas
sHBULGH BT,  iemmed  GeulenLwim®
LIGUT 6T D606V

QbH  FWPSHIHL  BDAHIGBET  USI(PDHDH

SHETMLOENWILI LIFTLOfSd © 561l 6iImen.

4) o ulflwed eleusmur y&Fd &L GUUTEH 6TeILIG]
Gaul_emL_WiIm(BLD aileLmIF, B 611 68T Beny
STeRINNBHMBMU  QUOBIGLBHSHID  FHpenest
DIQUILINL WITHS O\SHTEmIL Hi

3)

146. wrgiu’ L uflewimob LBy elend@aSBa)

1) @6y QFwWLTHBEHEHSHTS 2 (HAITGLD
OleueuBauml &L L 6mLDLIL|EH6T

2) OeuaiBauml OFWIEOLITHHEHHHTE 2 (HEUTEGLD
Q53 HLL eDLOLILISH6N

3) GauaiBaum OFWIOLITHSHEHHHTE 2 ([(HAUTEGLD
Q5P HLLeNLOLIL|SH6N

4) @By QFWOUTHHEHHHTS 2 (HANGD @HS
&L L_6WIDLIL|&6IT

147. Oeeu@md  aBpIFg&ioe0  LNbGseisd  61g)

QUITHIAITS SO AIYAISHH 60 2 _6iTerg)?

1) s1L6%60 2_aiter 2_ulflgH0sTGSuler LIFoG
2) 0] &BDIFSI060 SimIDILTe0 erewtaberien LT[
3) LevLauaiuied o _eiten oyBmedlesT LITOG

4) s igev 2_eiten 2_ulflg0smE s LIndG
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148. An adrenal hormone responsible for the
regulation of blood glucose level is
1) Insulin
2) Thyroxine
3) Glucagon
4) Cortisol

149. Statement-1: A stable community must be either
resistant or resilient to occasional disturbances.
Statement-11: Tilman found that plots with more
species showed too much year to year variation
in total biomass.

1) Both statement | and statement 1l are true
2) Both statements | and statement |1 are false
3) Statement | is true but statement 11 is false
4) Statement 1 is false but statement 11 is true

150. The mantle cavity possess feather like gills in
1) arthropods
2) annelids
3) molluscs
4) echinoderms

151. Which of the following is incorrect?
1) Protooncogenes are present in normal cells
2) Vaccines generate memory-B and memory-T

cells
3) Anti-histamine, adrenaline and steroids
quickly reduce the symptoms

immunodeficiency
4) Rheumatoid arthritis is an autoimmune
disease

152. Match the following.

a) Ossicles |i) Aplysia

b) Radula  |ii) Nereis

c¢) Osculum [iii) Asterias
d) Segments |iv) Euspongia

1) a-iii, b-i, c-ii, d-iv
2) a-iv, b-i, c-iii, d-ii
3) a-iii, b-i, c-iv, d-ii
4) a-iv, b-i, c-ii, d-iii

153. Eli Lilly an American company prepared two
DNA sequences corresponding to A and B
chains of human insulin and introduced them in
1) cosmid of Helicobacter
2) Plasmid of E.coli
3) Cosmid of Yeast
4) Plasmid of Bacteriophage
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148. @153 GHeEpdCHTE0 SleTeM6 QEIGLBSHSI
UHMBES CUTBINILITET Q(H DI Feureo ammiTELomesT
1) Betiaedei
2) »ByTaendent
3) & @EhHBBTEHT
4) &migBamed

149. smp-l: @@ Beveowimen Fepsld SieleulIBUTS)
JBUBID OBSTHSITBEHES THTLILS CBflaildeDd
IV LOGTHETMD QBT HTH — B(HHD
Gouemt(BLb.
app-ll:  oHs o ulflamismend  GCEmewIL
BlevmiseT Gomshs 2 ulflsesTEHuled SLemBHS
LGB DIFHB LOTBILITL DL ST (HEeIB6n 6T6TH]
1960BLD6T HEWIL MIHSHTT.

1) gammi | oBmid gapm | ByewiGid &

2) gamiml | oBmib sapu [ @yeniGid seaiprearme
3) gmml | Ml eyermed gapm |1 Heum)

4) gapml | Heum opeoimed gnmml 11 &

150. Guwsinged  @ewLOeuell  BB&
OFaleTHmeNns OBTamI(heiTerngl
1) BamIsbHT60 6
2) QUM HMEL LD EH6IT
3) QosdeviL_60&6iT
4) ap1 B meV 6

Gumeis

151. deseumeuemeumnsled 618 SHeummeg)?
1) yGym BeGamedeiimer FrHTyemt OFe0H6re0
o 6iT6rment
2) 36l @6 Heveareusd-B oBmid Blenereudsid-
T QFe0HMET 2 (THaUT (& 136
SLeTg-anflerOLewLoes, S fletevledr  LOBXILD
eolegTuIBseT  CrTOWHTULY  GHeHBUTL 196
SIB GBI BmENT alleNTeUTHD &M eTmBen
4) (1IpLE UTHID (I HETEIL 60 ST GBTUl

3)

152. eiteumeusauBensll GLIMhSHHLD.

a) (IpL_ 6T 1) oiiemevdum

b) grBeor i) Biferd

C) Sperv@eotd  |ii1) operdleflulend
d) sewi_miser |iV) uperouimehduim

1) a-iii, b-i, c-ii, d-iv
2) a-1v, b-i, c-iii, d-ii
3) a-iii, b-i, c-iv, d-ii
4) a-iv, b-i, c-ii, d-iii

153. 96wflss Bpeuetorear 66l 656068 DeNSH
Beaedefear A oppd B gmidledsenL et
GamLyemLw  Brewi® DNA  auflengsanens
SWMTSSI SleuBemB SIBl(PeiILBSSH ey
1) OamedCsmursdL fleT Smerdidll
2) w.Gameneouller Llemmerdiill
3) merdIgesT SBmervLilL
4) urslefGuimBugges Lemmerdiil”
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154. In frog, all of the following are cellular
aggregations around nerve endings, except
1) Sensory papillae
2) Internal ear
3) Taste buds
4) Nasal epithelium

155. Which of the following represents the correct
equation for logistic growth model?

dN N
DE=mN(1-%)
2) Ne=Nge"

156. Which of the following is an enzyme complex
required for the conversion of prothrombin into
thrombin?

1) Streptokinase

2) Thrombokinase

3) Carbonic anhydrase
4) Carboxypeptidose

157. Assertion (A): Placenta is a structural and
functional unit between developing embryo
(foetus) and maternal body.

Reason (R): It facilitate the supply of oxygen and

nutrients to the embryo and also removal of

carbon dioxide and excretory materials produced

by the embryo.

1) A and R are true and R is the correct
explanation of A

2) A is false, but R is true

3) Ais true and R is false

4) A and R are true and R is not the correct
explanation of A

158. Select the incorrect statement from the

following

1) A fall in GFR activates JG cells to release
angiotensinogen

2) Angiotensin Il is a vasoconstrictor and
increases blood pressure

3) Atrial natriuretic factor is a vasodilator

4) ADH facilitates water reabsorption from the
distal tubules of nephron
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159. Assertion (A): Hepatitis B and HIV infections

are not completely curable.

Reason (R): HIV and HBV can be transmitted by

sharing of injection needles and surgical

instruments with infected persons.

1) A and R are true and R is the correct
explanation of A

2) Ais false, but R is true

3) Alis true and R is false

4) A and R are true and R is not the correct
explanation of A

160. Each muscle fibre of a skeletal muscle is lined
by the plasma membrane called
1) Fascia
2) Myelin sheath
3) Perimycium
4) Sacrolemma

161. Which of the following part of nephron is
impermeable to water?
1) Ascending limb
2) Proximal convoluted tubule
3) Collecting duct
4) Distal convoluted tubule

162. Which of the following represents the action of

glucagon?

1) It increases blood glucose level by stimulating
glycogenesis.

2) It decreases blood glucose level by stimulating
glycogenolysis.

3) It increases blood glucose level by stimulating
gluconeogenesis.

4) It decreases blood glucose level by stimulating

proteolysis.
163. Match the following.
Q) IC |i)VC+RV
by VC i) TV +IRV
c) FRC liii) TV + IRV+ERV
d) TLC |iv) RV + ERV

1) a-ii, b-iii, c-1, d-iv
2) a-iv, b-iii, c-i, d-ii
3) a-iv, b-iii, c-ii, d-i
4) a-ii, b-iii, c-iv, d-i

164. The blastomeres in the blastocyst are arranged
into an outer layer called
1) trophoblast
2) inner cell mass
3) granulosa
4) fibroblast
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159. gmm (A): Oamumgiged B wmpid HIV

CBHTBMIHEmENT (P(LREMLDWITE GelIL(BSSH
PIRUWITS.
smenid  (R): umdssiiu’ L  BUTHEHEHES

LWSTLGSSH W eadHel oBBID DiBlemel FHHFma

smalsementl 2 LBwmalliuge csod HIV woBmid

HBV ugejib.

1) A opmid R &M, R eeiug A Qe Fflwime
allenébaId

2) A aaTug) Sauml, ouemeo R ereig gl

3) A aiaiugy) &M, R eiaiiug) seum

4) A opgib R eeiug afl, R aag A Ser
Fflwmest allendbasld Sl606V

160. sTeuIbLE (B HMFUTET QerCEUT(H HEWF BT(HLD
LGB  NemmerdoT F6lle] clpevld  auflenaFuwims
® 6lT6Ng)

1) Sariu_eoib
3) Quiflentodlwib

2) emLoWIedelr 2 _enm
4) UL 6uLD

161. Q. .Lpreier LeTeUBD 6hHLI LGS SHewteniT
26 (B(HoV (PIQUITHSI?
1) GGeom! SiTibL
2) Slemieniouiled GihHewIL @& Lpmul
3) BFmfleb@Id GLomul
4) GFU16MLD FH(THEIT [HICNTEGLOMU]

162. Ueateumeusiouppsled  o1gh (& EHCaHmBH et 6ot

QFWeOLITL DL & &N HBBSHI?

1) HenenBHTegest o (HeUTHBHMBD SHIT6wT(H6r 60
(vl @QIHS  GEndHGsTad  jemeney
NP B[ SSBS.

2) HemenBoreyelt FenGHemal HITEHIBOISHET CLPEVLD
BI5S &EHHCHTEH DleTeN6D &MBHIBSI.

3) BEHECHTED 2 (HUTHBHMBH HIT6NI([H6H6T
(ool @IHS  GEndHGasTad  jemene
DI B HHBS).

4) wasdmpma BremiBugses b BIHs
& EHHCHTE SleTeMaID &HMBHEBSI.

163. Ussteu(meuatouBenmLl QUIT(HEHHeLD.
a)IC  |)H)VC+RV

b) VC i) TV + IRV

¢) FRC liii) TV + IRV+ERV
d) TLC |iv) RV + ERV

1) a-ii, b-iii, c-i, d-iv

2) a-iv, b-iii, c-i, d-ii

3) a-iv, b-iii, c-ii, d-i

4) a-ii, b-iii, c-iv, d-i

164. &mabBsmenggHev 2 _6iten &([HHBHTeN6Fe0H6!
1) ¢ Gym@uim Nenmmerdr
2) 2_ai1 &1 OF60 Hy6itbei
3) AyreniGeurar
4) . .euliBymiemerdr
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165. Match the regarding reproductive system of
Periplaneta americana.

a) Mushroom shaped gland|i) 67-7"
b) Spermathecae i) 6"

c) Testes iii) 4M-6™
d) Ovaries iv) 2M-6"
1) a-i, b-ii, c-iii, d-iv

2) a-i, b-ii, c-iv, d-iii

3) a-ii, b-i, c-iii, d-iv

4) a-ii, b-1, c-iv, d-iii

166. Which of the following ARTs involves the
transfer of ovum into the fallopian tube?
1) ICSI
2) IVF
3) ZIFT
4) GIFT

167. If sodium-potassium pump stops working, it
results in
1) increase in the Na* inside the axon
2) decrease in the K* outside the axon
3) increase in the Na* outside the axon
4) increase in the K* inside the axon

168. Which of the following is the correct match?
1) Males are heterogametic-Honeybee
2) Females are homogametic-Butterfly
3) Males are homogametic-Fruit fly
4) Females are heterogametic-Pigeon

169. Which of the following members are all
marine?
1) Echinoderms, Cnidarians and protochordates
2) Protochordates, Chondrichthyes and Annelids
3) Hemichordates, Echinoderms and Arthropods
4) Ctenophores, Echinoderms and
Hemichordates

170. In frog, formation of chyme takes place in the
1) Stomach
2) Small intestine
3) Rectum
4) Oesophagus
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165. QuififenTQ@en Lm GWfbETe - EeICL(HHD
SIWLOLIL OFHTLJUTeIeNSH OILIT(HSHSHIS

a) amermmest auigey agrud|i) 61-71
b) alba CsreienL i) 6!

C) alibaHsID i) 4m-6™
d) smlienLsei iv) 2M-6"

1) a-i, b-ii, c-iii, d-iv
2) a-1, b-ii, c-iv, d-iii
3) a-ii, b-1i, c-iii, d-iv
4) a-ii, b-i, c-iv, d-iii

166. Ueteumd ART  sefled 618 S@HIPL ML DU
.".GuedGeumLilwiest GLomuiled LOMTB13IeU6N S
©_GiT6NLchauigl?

1) ICSI
2) IVF
3) ZIFT
4) GIFT

167. Gamouub-Quiml L r&luwiib Bauemev

CFuIeNem S BBISHDH T, DI

1) eusareien 2 _aiGer Na* oigafiiy

2) susbaTaeE QeuefCu KT gamey

3) susaTaIBE OeueGu Na* By

4) sysanafen 2 eiGen KT oigaifiii

2 _HHLD

168. WeiteumeueameuBsled 61g gflwimet QUT(HGHSHLD?
1) oot Coumi L BereFed - GHariddelt
2) QUewT @55 BemelFed - L LM &FSH
3) Wt @HFH BCF6V - LILD FdHBH6IT
4) Quewt Gaumil L Be0Fed - LBTSHS6I

169. Weeurmd 2 _miilesefled Wy Sienerel(HD

BLGOFTITHSHET H6IT?

1) wrBsmedmer,  BHOfweiseT  OBBID
UGym_BLramTCLL (habel

2) UGym GLrarJGLL (Bae, &(HSHOHILDL]
1601661T LOBMILD 6UENEITHENFLI L|(LDSHEH6IT

3)  orpTaniser,  1pl Camedde  OBEID
B BTV H6IT

4)  gGer..Gumisel, (P CHTelH6T  LOBMID
I [HT600N 61T

170. seouemenuied, ewFD o (HouTHsD B0

HOL OLBISBS

1) auuim

2) FmIGL 60

3) WwevEBEGL 60
4) o_ewi6)db @MUl
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171. Match the following 171. UesaumauaTauBenBL! GLIT(HESHaID

a) Homo sapiens i) Hunted with stone a) GammGiom 1) B60 QLUISHBIBETTED
weapons GaLwiesTerd Goul el WITL_LILL L &)

b) Homo erectus i) Buried their dead b) GamrGuom i) Bubgeujsmen SiLdasid

c) Australopithecines |iii) Probably ate meat ﬂ@?ff’u’m Csigs! :

d) Neanderthal man__|iv) Pre-historic cave art C) ool gmBeom |iii) gGouewen Bavpéd]

1) a-iv, b-iii, c-i, d-ii O g a6l . FMUILNL19(HEHEOTLD

2 a-iii, b-iv, c-ii, d-i Q) Bunamii jpned |1V) ansnhpse phmsi

_..’ F ’_... '_. LDGOT 55601 GHMDBD HeN6D
3) a-ii, b-i, c-iii, d-iv 1) aciv, beiii, ¢, d-i

A) acl, bl clv, i 2) a-iii, b-iv, cii, d-i

172. Partial pressure of oxygen in the systemic 3) a-ii, b, c-iii, d-iv
L 4) a-i, b-ii, c-iv, d-iii

arteries is

1) less than that of alveolus

2) greater than that of pulmonary vein

3) less than that of systemic vein

4) equal to that of tissues

172. Gumump Cumhswelseied odbenimeien Ligd)
SAWHBHID
1) srBEpIieUmw ol & GamBe)
2) mIewguiyed dengenul ol &8 sLomEID
3) QupEhFmyenuwl Al & GHemBe]

173. Which of the following hormones are produced 4) Badmende FI0k

by pars distalis?

a) Prolactin

b) Follicle Stimulating Hormone

c) Somatostatin

d) Gonadotropin Releasing Hormone
e) Melanocyte Stimulating Hormone
1) a, band e only

173. Weireu(mid ammiGometaeflsd LTTerd 19erdL medleromed
® MU QFILLILGBLD aBmTGLOTesT 6157
a) UGymeunslgest
b) miewTewTIen®s HITEHIBHe0 QBTITGLOTEH
C) GamomGLTerdL Mg 63T
d) GamremGLmGymiilesr GeueluiBGLd ammyGLomesT
gg E’adngn ddoen?;ly e) GBI FL HTHIHHe0 aBTTCLTET
4) aand b only 1) a, b and e only
2) b, dand e only
3) band d only

174. The state of heart when it is not pumping blood 4)aand b only

effectively enough to meet the needs of the body
is called

1) Cardiac arrest 174. 2 1 60651 BHemeusementl LijdHa Gguiur GurgiLoment

90| BIHSHHMS 2 b  CFVSHBHTHHT6V

2) Heart attack BHUSHH e Hlenev BaIaIT SIenDSELILIBS DS
3) Atherosclerosis 1) 5w HpisHsid
4) Heart failure 2) wryenLLiLy
3) QuHbHHLT Higll
175. Statement-1: Midbrain is located between the 43 @gﬁﬁ)g)&umiﬁuu
thalamus/ hypothalamus of hindbrain and pons
of the forebrain. 175. ammm-l: BGeweven eaicwenenulet  Geomierd/
Statement-11: Three major regions make up the ®ABGLITSHEITIOEN OBHID (Lpeselpanenuies LimasTerd
brain stem are midbrain, pons and cerebellum. BB SIMLDHSIGTETE.
1) Both statement | and statement 1l are true gapmi-ll: cpanens SNl o _(HaTHGD (PETyI
2) Both statements | and statement 11 are false WHAW  UGHBET BHHEPMET, LITETer0  LDBBID
3) Statement | is true but statement Il is false Fmicpener.
4) Statement 1 is false but statement II is true 1) gammi | oBmid gapm | ByewiGid &

2) gamiml | oBmid aapm 1 @yeniGio Heupreareme
3) aamiml | M oyemmed gnmmi | Heummeng)
4) amul | seupTeg oemmed dapmi | o
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176. Assertion (A): Pre-synaptic neuron transmits an
impulse across the synaptic cleft to the post
synaptic neuron in a chemical synapse. Reason
(R): Inachemical synapse, the membranes of pre
and post synaptic neurons are in very close
proximity.

1) A and R are true and R is the correct
explanation of A

2) Ais false, but R is true

3) Alis true and R is false

4) A and R are true and R is not the correct
explanation of A

177. According to Oparin and Haldane, the first form
of life could have come from
1) decaying and rotting matter like straw
2) pre-existing living organisms
3) resistant spores of other planets
4) pre-existing organic molecules

178. Match the following
a) Entamoeba histolytica

i) Large intestine

b) Wuchereria malayi i) Lymphatic
vessels
C) Haemophilus|iii) Alveoli of lungs
influenzae

d) Plasmodium vivax iv) Red blood cells
1) a-i, b-ii, c-iv, d-iii

2) a-i, b-ii, c-iii, d-iv

3) a-ii, b-i, c-iv, d-iii

4) a-ii, b-i, c-iii, d-iv

179. Between which among the following, the
relationship is not an example of commensalism?
1) Orchid and the tree on which it grows
2) Cattle egret and grazing cattle
3) Sea anemone and clown fish
4) Female wasp and fig species

180. The process of breakdown of detritus into
inorganic nutrients by the action of bacterial and
fungal enzymes is
1) Fragmentation
2) Leaching
3) Mineralisation
4) Catabolism

36
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176. smm (A): (Wwa-engeaiiigd BULITeT @b
Gougluiwed  emgemmiifled  ewFeiTligs  Llerey
aufwrs Vet engermigsd HULITaldsd @b
o hglallenFenl Sl GHHIS MBS
amenid (R): @@ Geaugdluluwied engeimidled, (Leit
BB Uhosw  mFaliigd  Hulyrerser e
F6ll6)B6IT LB DI(HHI6L 2_6iT6ITen.

1) A opmid R &M, R eeiug A Qe aflwime
allenébaId

2) A aiasug) e, ouemeo R ereig gl

3) A aissiugy &, R eteiiug) seum

4) A opgib R eeiug afl, R aag A et
Fflwimest aleNéald £6060

177. qufler Bmid  amTeLGL 6l

QUTLDSHMBUINGIT (LPSH60 UIQAILD

1) 9ip&b wBDBID WG meusBsTed Gumes
Qum(meIT

2) (&L B (&G 2 _ulifeumbicselt

3) Up Sysmiseier eHIILS Hmer Osmem
VYL

4) (1paS18L B(HBELD BIFID LPEVE Tn [BIH6IT

GaBmILILg,

178. UssteumeuaioupenmL GUIT(H&He b

a) ereT_toum i) Quiw L6
an3er0BL medlig i

b) o _&Qaflwir weorut  |ii) HlewIby HIenmIG6T

C) ansGomLleverd iii) mlewyuiyedesr
©)601." .LIGTHTUIGITYOIT 9le0allGuimel

d) emmerbGuomiguitd V) ®15%
alleumeberd FouliLignm)d B 6N

1) a-i, b-ii, c-iv, d-iii

2) a-i, b-ii, c-iii, d-iv

3) a-ii, b-i, c-iv, d-iii

4) a-ii, b-i, c-iii, d-iv

179. Ueeumeuaioupniled  a1pME@ — SewL Guiwimest
ey, C5Fbal auTPaUSBES QH IHHHHETL (B
SI6060?

1) eusHal’ BBID ©IgI 6B LOJLD

2) smeopL Ged SO GIGHTENISHOHTSHE,
LBmID CLUIFF60 STELHENL &H6IT

3) sL_6L gmoh oBBID Camiomer e

4) QuewT G6eNal LBEBID i BTHIB6IT

180. wunsweflwr BB  yYehewdF  GCBTgseret
GawebUT 19681  clpeld  SHlPQBemeT  HevlllD
o' | FFHBHIHHENTS 2L SHGLD GFweOLpenm
1) Fiew1_ 1@ H60
2) s8HEBHTBH60
3) BNOLOUWIDTEHSHE0
4) HenHLOTHBBLD
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Solution

Physics
01. Answer (2)
From the principle of dimensional

homogeneity

[F]=[at]
F1 [mLT? o
= la]= [—} = =[MLT™]
cl ||
Similarly [F1=[bt"]
[b]:[f,]: MLTZ | ey,
fll T

02. Answer (3)

03. Answer (1)
Sin@ = E = 6 =30", west
20

04. Answer (1)
Friction = Component of weight along the plane
=mg sin 6 = 19.6 sin 45°

05. Answer (1)

Given that
p=pi+p,j=2cost [ +2sint |

dap
dt

. F="£=_2sinr i +2cost |

Angle between F and p is 90°.

06. Answer (4)

Momentum of the system and KE of the system
conserve

07. Answer (2)
J28h = @

_or_3b
2 4

2

08. Answer (2)
Moment of inertia of disc about a diameter = ¥4
MR? = | (given)
. MR?=4|
Now moment of inertia of disc about an axis
perpendicular to its plane and passing through a
point on its rim

= 3um - é(41) =67
2 2

09. Answer (1)

Y k
L:f‘Xp: | 2 -1
3 4 2
=0i — j—2k=-j-2k and the X- axis is

given by i +0;+0k

Dot product of these two vectors is zero
j.e. angular momentum is perpendicular
to X-axis.

10. Answer (4)

11. Answer (3)

According to Einstein’s photoelectric

eguation
1/2
E =¢+lmv2 =v= [—2(}10_2@}
A 2 mA
12. Answer (3)

The wavelength of spectral line in Balmer series
is given by

1 I 1
=R | =
A {22 nz}

A _2 = A 20 6561-4860 A
A 27 27
13. Answer (3)

Nuclear force is stronger than coulomb force.
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14. Answer (3)
In n-type semiconductor, Fermi level is close to
conduction band

15. Answer (4)
The output D for the given combination
D=(A+B)-C=(A+B)+(C

16. Answer (4)

§1n45 =\/§:>l=sin£:>A=60"
sin(A/2) 2 2

17. Answer (1)

18. Answer (2)
FE-dA = 2—:‘ is Gauss’s law for electricity
$B- dA = 0 is Gauss’s law of magnetism
ﬁﬁ -dl = % is
electromagnetic induction
$E - di = poic + 1o & _iTE
well law

Faraday’s law  of

IS Ampere-max

19. Answer (3)
By =5x10 °NA
{=2mand v=15ms!

e =Bpplv =5x10 2 x1.5x2

1SSl

-

=15%10"° =0.15mV

20. Answer (2)
The metal detector works on the phenomenon of
resonance in an circuit.

21. Answer (1)
In the case of motionof a charge in a magnetic
field, the magnetic force is perpendicular to the
velocity of the particle. So, no work is done and
no change in the magnitude of the velocity
(speed) and kinetic energy is produced.

3
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22. Answer (4)

In balancing R - E
S 75
. o opt
New resistance R'=1"—
pX L

—2_nt x4A4 R =2R

A 2

4

50 =200

(=40
23. Answer (2)
Given _C:iqrcuit is equivalent to

AR : A c
3Q

3Q

VYWY

B
3Q

So the equivalent resistance between

points A and B is equal to
r=23_2N
6+3

24. Answer (2)

2 ) dVv d
E:,/Ex +E,E, :—E=—£(4x+3y) =—4

And E, = '8 :—di(4x+3y) =-3
) ay

dy
2 2
LE=q(-4) +(3) =5N/C

25. Answer (3)
If we increase the distance between the plates its
capacity decrease resulting in higher potential as
we know Q = CV. Since Q is constant (battery
has been disconnected), on decreasing C, V will
increase.

26. Answer (2)

KQ?  KQq
2t 27
r (r/2)
By solving we get,

- Q
qr‘g 1 ¢

K— = ,
3 100—¢

2R

= - =30 =200-2(
S 100-¢

27. Answer (1)

Hl:HZ

or (30)a 22 - a1

or gz[ﬁl +992)
10
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28. Answer (3)

Lloq +L2a2 La+2L 2«
Qay =
av L1+Lo L+2L
=5_(]'
3

29. Answer (1)
When cross-section of duct is decreased, the
velocity of water increased and in accordance
with Bernoullis theorem, the pressure P
decreased at that place.

30. Answer (2)

2
vl'H:Aa):LA
T
24 44
<Vv>=
TI2 T

total displacement )

Laverage velocity =
total time

A v
But — =— from Eq. (1
T =2, q- (1)

[vili] 2
Ly>=4 i =—y
2n) &

31. Answer (4)
Breaking force is independent of length

32. Answer (1)

}/:1+%
n
2 7
For H,,y =14+—=—
20V 5 s
For He,y =1+ g 2
3 3
2 9
For X,y =14+—-=—
S W

33. Answer (3)

If Mo is molecular mass of the gas

then for initial condition
M
- — .RT....(1
PV= (1)

0

After 2M mass has been added

pV_3M T
3 M, 3

By dividing (2) by (1)

P =3P

34. Answer (3)
Conceptual

www.TrbTnpsc.com

35. Answer (3)
If the rifle recoils freely, the kinetic energy of
rifle is less than that of the bullet because its mass
is more. In the case of rifle-bullet system, the law
of conservation of Energy is valid.

36. Answer (3)

y o It mX, +myx,

em

m, +m, +m,

_2

3
y o mytmy, tmy, 2
o m, +m, +m, 3

Position vector of CM—§(1 +J)

37. Answer (2)

he h
/Imon:_ and/lroon:—
;"photon _ 2m /(I‘photon |

=" =Cy|l— =
ﬂ’electmn E clectmn VE

38. Answer (1)

39. Answer (3)
Given A, B, C, D are identical solenoids. The
magnetic field at the centre of A is BA=3T.
Since, solenoids B, C, D are connected in
parallel, current through each will be /3

B /3 1
A o e BcleA:lX3=1T
B uni 3 3 3

A

40. Answer (2)
For the given circuit

AAAAA

FAMN——
L5V L5V
A 60 p 20

AN AAAA.
AAAAS

T8+ 2r
Now voltage across AB

3
8+ 2r

x6=2

IxX6=

=9=8+2r

jrle
2
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41. Answer (4)

We can put similar cuboid on above this cuboid
to make cube of side 2L and to have symmetry

about charge
2L

C

A B

Flux through this whole cube = —-

£g

q

As total faces are 6, so flux through ABCD is ——

42. Answer (4)
P

0
w

A D >V
AQ s =AW, + AU 4
= 60J =30J + AU

= AU ¢y =30J

= AU ppy =AU,y =30

AQACD = AUACB + ‘/—\WADB

43. Answer (3)
mys,(75—6) =m,s, (0 —-15)

ms, (8-15)
mys, (75-6)
2x3 _(0-15)
x4 (75-6)

From this we get ©=35°C

44. Answer (3)
Vs =ut+at=0+(5)(4)=20m/s

v:ﬁf\f{‘,2 +vJ_2 =10</2m/ s

Since in air,a=g=10 m/ s’

45. Answer (4)

A and C will be represented by a diamagnetic

material

6z,

5
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47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57,

58.
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Chemistry
Answer (3)

Br>S>H=P

Answer (2)
CH4 & SO3

Answer (1)
Conceptual

Answer (1)
E’ =E° —E°

cell cath anode

=+034—(-0.76)=+1.1

Answer (2)
X =3 (2Cis + 1 trans); Y = 3 (C is isomer has
dextro and laevo whereas trans isomer is a meso
compound)

Answer (2)

I) Ketones do not give positive Tollen*s and
Fehling™s test.

I1) Aromatic aldehydes do not give positive
Fehling™s test

[11) HCHO does not give positive haloform test

Answer (3)
Total nodes = (n-1) =5-1=4

Answer (2)
Only Ea

Answer (1)
In aqueous solution, “+3” state is most stable for
all lanthanoids.

Answer (2)

H,0
CH3sCHO + RMgX — CH3— CH (OH) — R
Answer (4)

Down the group stability of higher oxidation
states increases in transition elements.

Answer (1)
7w =CRT

18 1000

4.926 =—x——x0.0821x300
M 500

M =180

Answer (3)

<:>—COOH
...Cyclohexane carboxylic acid
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Answer (1)

(C) is incorrect r. = 0.529r A°

Answer (1)
RsN has no hydrogen atom to condense with
Hinsberg reagent.

Answer (2)
Density of water = 1 g/ml
.18 g (18 ml) contain Na molecules

Answer (2)
(CH,),C=CH-CH,—"%"(CH,),
C=0+CH,-COOH
Answer (2)
nw.’wnf = @ = - nmhrrc’ — m = 0'25;
' 18 ' 0
5 20
o = ——=7—=0.952;
Zsohr_n 5'25 21 !
Answer (4)
S AR =0.1
400
[Hﬂ = iE
= (0.01)(0.1) =10~
p" =3
Answer (2)
O, S Bond order .....2.5
O] .......Bond order ....... 1.5
Answer (3)
1 1
T=7+—(4.82)-—=(4.78
(482)-(4.78)
p’ =702
Answer 3)
CRNOR @ o8
Answer (1)
Com HI

(CH,),C-0-CH,-CH, (CH,),C-1+C,H,OH

S, 1 mechanism
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Answer (2)
A =B = pricric acid

Answer (1)

Answer (1)
Br,O; —+6,+4,+6 ; C,0, —+2,0,+2

CaOCl, —+1,~1

Answer (4)
4>3>1>2

Answer (3)

‘A’ =CH3 - CH2 - CH2- CHgs;

B = (CH3)3 CH; C = (CH3); COH

‘C’ gives immdediate turbidity with Lucas
reagent.

Answer (3)
AH & AS are positive for melting of ice.

T =273K;

eq
Above 273 K, AG =—Ve;
—Ve = +Ve—273(+Ve) (or)

The above relation becomes correct only
when magnitude of AH <TAS

(AG = AH —TAS)

Answer (3)
Conceptual

Answer (4)

There is no chiral centre in methyl alcohol form
hence there is no meaning for inversion in
configuration

Answer (3)
Conceptual

Answer (2)
All Co®*" octa hedral complexes except [CoFe]**
are diamagnetic, inner orbital complexes

Answer (2)
‘A’ is CH=CH;'B' is CH,CHO; ‘C’ is

CH,—-CH,; ‘D’ is CH,COOH
CH=CH——22_—CH,-CH,

Ni/150-300"

H;)

CH, — CHO ; 2 CH,COOH
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Answer (1)
Eg_;_ (> 18 most negative in 3d series

o 8

Answer (1)
Cd — CdO; Ni(OH ), — Ni(OH ),

Answer (3)
Answer (2)
Answer (1)
Answer (1)

Answer (3)
CO......... neutral

Answer (1)
Sol: (B)....... Cl>F>Br>1

Answer (4)
Conceptual

Answer (4)
Oxides of Bromine are unstable (middle row
anamoly)

Answer (2)
d® configuration (five unpaired electrons). The mag-

netic moment, wis pu=./5(5+2)=5.92BM
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091.
092.
093.
094.
095.
096.
098.
099.
100.
101.
102.
103.
104.
105.
106.
107.
108.
109.
110.
111.
112.
113.
114.
115.
116.
117.
118.
119.
120.
121.
122.
123.
124.
125.
126.
127.
128.
129.
130.
131.
32
133.
134.
135.

Botany
Answer (1)

Answer (4)
Answer (4)
Answer (3)
Answer (3)
Answer (1)
Answer (1)
Answer (3)
Answer (3)
Answer (3)
Answer (1)
Answer (1)
Answer (4)
Answer (4)
Answer (4)
Answer (1)
Answer (2)
Answer (2)
Answer (2)
Answer (1)
Answer (4)
Answer (1)
Answer (1)
Answer (1)
Answer (2)
Answer (3)
Answer (3)
Answer (2)
Answer (2)
Answer (2)
Answer (3)
Answer (2)
Answer (1)
Answer (4)
Answer (4)
Answer (1)
Answer (2)
Answer (3)
Answer (2)
Answer (3)
Answer (1)
Answer (2)
Answer (4)
Answer (3)
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Zoology
136.

137.
138.
139.
140.
141.
142.
143.
144,
145.
146.
147.
148.
149.
150.
151.
152.
153.
154.
155.
156.
TSE,
158.
159.
160.
161.
162.
163.
164.
165.
166.
167.
168.
169.
170.
171.
172.
173.
174.
175.
176.
177.
178.
179.
180.

Answer (2)
Answer (1)
Answer (3)
Answer (2)
Answer (1)
Answer (3)
Answer (1)
Answer (4)
Answer (1)
Answer (2)
Answer (2)
Answer (2)
Answer (4)
Answer (3)
Answer (3)
Answer (3)
Answer (3)
Answer (2)
Answer (2)
Answer (1)
Answer (2)
Answer (1)
Answer (1)
Answer (4)
Answer (4)
Answer (1)
Answer (3)
Answer (4)
Answer (1)
Answer (1)
Answer (4)
Answer (1)
Answer (4)
Answer (4)
Answer (1)
Answer (1)
Answer (1)
Answer (4)
Answer (4)
Answer (2)
Answer (3)
Answer (4)
Answer (2)
Answer (4)
Answer (4)
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